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The concept of cultural lag was given by:

1. William Ogburn
2. William James
3. Raymond Williams
4, Monica Wilson
1) 1
(2) 2
(3) 3
(4) 4
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The concept of performativity 1s associated with the work of :

. Benjamin Lee Whorf
. Wilhelm Wundt

. John Austin

. Max Weber

(1)1

(2) 2

(3) 3

(4) 4
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The concept of 'Key Scenario’ was used by:

. Eric Wolf

. Marshall Shalins

. Rodney Needham
. Sherry Ortner

(1) 1

(2) 2

3) 3

(4) 4
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The kinship terminology principle through which 'blood relatives' are distinguished from 'relative by marriage'
is called as:

. Collaterality
. Covenant

. Bifurcation
. Polarity

(1) 1

(2) 2

(3) 3

4) 4
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The concept of "antistructure’ was proposed by:

1. Victor Barnouw
2. Jack Goody
E

3. Ernest Gellner
4, Victor Turner
(1) 1
(2) 2
3) 3
4) 4

T GRT Wid-SRa-T (USRedaR) &1 SaURUN Jaiad &) s ot 2

o R
feger e}
1 1
(2) 2

3) 3
(4) 4

T
I

L b2 =

o

1[Option ID=13417]
2[Option ID=13418]
3[Option ID=13419]
4[Option ID=13420]

Sl. No.6
QBID:17006

Teivaliol and Tarthrol are the kin groups found among the:

1. Bhils
2. Kukis

(4) 4
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(1) 1
(2) 2
(3) 3
4) 4
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1. Currency
2. Women
3. Goods

4. Messages
1) 1

(2) 2

3) 3

(4) 4
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According to Levi-Strauss,

is not an elementary form of exchange.
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k2 =

(1) 1
() 2
3) 3
(4) 4
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(3) 3
(4) 4
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. Consanguineal link to males

. Consanguineal link to females
3. Consanguineal link to either sex
4. Affinial link to either sex

Cognates are kinsmen related to ego through:
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Which one of the following commissions recommended the introduction of 'Ashram Schools’ during the 5th
Five Year Plan ?

1. B.P. Mondal Commission
2. Kaka Kalekar Commission
3. U.N. Dhebar Commission
4, Shilu Ao Commission

(1) 1

(2) 2

(3) 3

4) 4
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The concept of "cultural hegemony’ was proposed by :

. Antonio Gramsei
. Karl Mannheim

. Konrad Lorenz

. Andrew Lang
(1) 1

(2) 2

(3) 3

4) 4

RSP AT B Gheq [ Hiadried & o 2

1. ey ot
2. FTd HelH
3. HES TS
4. UG AT

(1) 1

(2) 2

(3) 3

4) 4

| S ]

N S

1[Option ID=13437]
2[Option ID=13438]




3[Option ID=13439]
4[Option ID=13440]

Sl. No.11
QBID:17011

Who introduced the term 'Jajmani System' to Social Anthropology ?

. Louis Dumont
. ML.N. Srinivas
. William Wiser
. Oscar Lewis
(1) 1

(2) 2

3) 3

(4) 4
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"Medical systems mirrors power differentiation in social classes” is attributed to:

1. Charles Leslie and Byron Good
2. Arthur Klienman and Marcia Inhorn
3. Paul Farmer and Shirley Lindenbaum
4. Merrill Singer and Hans Baer

(1) 1

(2) 2

3) 3

(4) 4
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Who among the following feminist anthropologists gave the concept of 'muted group' referring to women?

H.L. Moore

. Sherry Ortner

. Edwin Ardener

. Eleanor Leacock

(1) 1
(2) 2
3) 3
4) 4
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Which of the following communities in South India was studied by Kathleen Gough ?

. Nadars

. Nayars

. Nayakas
. Nayakars
(1) 1

(2) 2

3) 3

(4) 4
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Who suggested that the motive for Sanskritization is not imitation per se but an expression of challenge and
revolt against the socio-economic deprivation?

1. T.K. Oomen
2. E.B. Harper
3. Harold Gould
4, K. M. Pannikar
(1) 1
(2) 2
3) 3
(4) 4
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Which of the following linguistic families is associated with the Santali language?

. Austro-Asiatic family
. Tibeto-Chinese family
3. Dravidian family

4. Indo-European family

b =

(1) 1
(2) 2
(3) 3
(4) 4
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A L. Kroeber in his famous essay, "The Super Organic" published in the year 1917 clarified the distinction
between :

. Political and social nature of human beings
. Organic evolution and social evolution

. Culture and Civilization

. Human and Primates

(1) 1
(2) 2
3) 3
(4) 4
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Who called classical evolutionism as pseudo historical and conjectural history?

. Franz Boaz

. A R. Radcliffe-Brown
. Margaret Mead

. Julian Steward

(1) 1

(2) 2

(3) 3

4) 4
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The analytical framework in which a person's social and political identities combine to create different modes
of differentiation and privilege is called :

. Triangulation

. Hegemony

. Intersectionality
. Intersubjectivity
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(2) 2
(3) 3
(4) 4
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The process of extensive borrowing of aspects of culture in the context of super ordinate - subordinate
relations between societies, usually occurs as the result of external pressure is called as:

1. Diffusion
2. Acculturation
3. Enculturation
4., Assimilation
(1) 1
(2) 2
3) 3
(4) 4
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The Loess deposits' are formed by the:

. Glacial activity

. Wind activity

3. Sea-level changes
4. Fluviatile activity

k2 =

(1) 1
(2) 2
(3) 3
4) 4
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The 'Topical' 1s:

1. An archacological site
2. A bural type
3. A prehistoric tool type
4. A flint knapping technology
(1) 1
(2) 2
3) 3
(4) 4
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The Clactonian and Levalloisian techniques are named after:

. The discoverer

. The fossil name

. The site name

. The sediment type

| S

N ]

(1) 1
(2) 2
(3) 3
(4) 4
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2[Option ID=13490]
3[Option ID=13491]
4[Option ID=13492]

Sl. No.24
QBID:17024

The catalhéyiik and Shanidar are:

1. Cattle breeding sites of Europe

2. Early farming sites of Near-East

3. Neolithic sites of North East India
4. Harappan sites of North-West India

1) 1
(2) 2
(3) 3
(4) 4
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2[Option ID=13494]
3[Option ID=13495]
4[Option ID=13496]

Sl. No.25
QBID:17025




The Soanian culture is characterized by:

. Split pebble technology

. Tortoise core technology

. Fluted core technology

. Pecked and polished technology
(1) 1

(2) 2

(3) 3

(4) 4
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The Colobinae sub-family of Old World monkeys can be distinguished from the cercopithecinae sub family by
the presence of:

1. Sacculated stomach and absence of check pouches
2. Ischial callosities
3. Elongated tympanic annulus forming an external auditory meatus
4. Nostrils that are situated close to each other.
(1) 1
(2) 2
3) 3
(4) 4
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The earliest hominid fossil in the Indian subcontinent was discovered at:

. Lothal
. Hathnora
3. Utnur
4. Mirzapur

k2 =

(1) 1
(2) 2
(3) 3
4) 4
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(1) 1
(2) 2
3) 3
(4) 4
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The relationship between sickle cell gene and malaria was established by:

.ALC. Alison

. James Neel

. Alice Bruce

. Frank Livingstone
(1) 1

2) 2

(3) 3

4) 4
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The term 'mini satellite’ is associated with which of the genetic markers?

. Variable number of tandem repeat
. Tandem repeat

. Single nucleotide polymorphism

. miDNA

(1) 1

(2) 2

3) 3

(4) 4
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Who first demonstrated that ethnic groups differed in their ABO gene frequencies?

. Franz Boas

. G.W. Laskar
. H. Hirszfeld
. W. Shapiro
(1) 1

(2) 2

3) 3

4) 4
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The coefficient of consanguinity is equal to the nature of coefficient of relationship.

. One-half

. Double

. One-fourth
. One-eighth
(1) 1

(2) 2

3) 3

(4) 4
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If one per cent males in a population exhibit colours blindness; what 1s the frequency of heterozygous women?

.0.01
089
.0.198
.0.0198
(1) 1

(2) 2

(3) 3

(4) 4

mmﬁmeﬁWWGﬁ%ﬁmW(@ﬁﬁ ) Ofge §H @1 Mg

. 0.01
.0.99
.0.198
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(1) 1

(2) 2
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(4) 4
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The totality of deleterious alleles in a population is known as :

. Genetic loss
. Genetic load
3. Genetic drift
4. Genetic equilibrium

k2 =

(1) 1
(2) 2
(3) 3
4) 4
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Who iz associated with the discovery of Lacotoli fossilized footprints?

1. Donald Johanson
2. Raymond Dart

3. G.H.R. von Koenigswald
4. Mary Leakey

(1) 1

(2) 2

3) 3

(4) 4
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Which of the following bones is not a part of human axial skeleton?

. Humerus
. Stermum
. Mandible
. Sacrum
1) 1

(2) 2

(3) 3

4) 4
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The book 'Culture, Biology and Anthropology Demography' was authored by :

. Eric Abella Roth
. L. Bernardi
. Nancy Howell

. D. Kertzer
(1) 1
(2) 2
3) 3
4) 4
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The total number of human chromosomes was determined by:

. Alec Jefferys and Asbjorm Folling
. Joe Hin Tjio and Asbjorn Folling
. Joe Hin Tjio and Albert Levan

. Alec Jefferys and Albert Levan
(1) 1

(2) 2

(3) 3

(4) 4
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Which of the non-human primates is not found in India?

. Loris

. Presbytis
. Macaque
. Papio
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(1) 1
(2) 2
(3) 3
(4) 4
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Which of the following is not a non-parametric statistical test ?

CANOVA

. Spearman's Rank Correlation
Mann Whitney U test
Chi-square test

k2 =

]

(1) 1
(2) 2
(3) 3
4) 4

FrefefEad o 9 o U IR-uEite Jifgreg wian @H-uufide ¥iefeed ¢w) T&l 82

. THIaT (TEA. 2 ElT)
W% HGHGH(Q?IHH«EH)

mﬁeﬁq\é&

4. PI-TAU ¢
(1) 1
) 2
3) 3
(4) 4

1[Option ID=13553]
2[Option ID=13554]
3[Option ID=13555]
4[Option ID=13556]

Sl. No.40
QBID:17040

The theme of the 15th Cold Spring Harbour Symposium on Quantitative Biology held in 1950 was:

. Origin of Man

. Origin and Evolution of Man
. Microevolution

. Evolution of Man

(1) 1

(2) 2

(3) 3

(4) 4

1950 & HTIIOId AEATIS® SHafaq OR 15 § ics (ST gTex Rpifoms &1 g () @ a1 2

1.%3@% (RIS 31w )
mﬂaaﬂa‘ﬂﬁqﬁﬁm (SRS US garqeE e 39)

3. mswl-dqmmw GIEEAECIGIR)
4. AT BT IGABT (IR 31 T

(1) 1

(2) 2

(3) 3

(4) 4

| S

R ]

1[Option ID=13557]
2[Option ID=13558]
3[Option ID=13559]
4[Option ID=13560]

Sl. No.41
QBID:17041




In census, slums are defined on the basis of:

A. Inadequate infrastructure
B. Unemployment

C. Overcrowding

D. Poverty

Choose the most appropriate answer from the options given below:

.C and D only
A and D only
.B and C only
. A and C only
(1) 1
(2) 2
3) 3
(4) 4

STUAT H, Fifdd frgd enur R afed sxdt afvfia gid 8-

A, AT ETREA
B. §RIGHR]

C. 3fd Hig-urs

D. feran

- feu e fam el § ¥ 9ed SUgad TR &1 99 B

1. %9d Cc AR D
2. BT A IRD
3. Pad B AR C
4 BITAARC

1) 1

2) 2

(3) 3

(4) 4

o Sl

=S ]

1[Option ID=13561]
2[Option ID=13562]
3[Option ID=13563]
4[Option ID=13564]

Sl. No.42
QBID:17042

Which of the following communities are included in the list of PVTGs ?

A Toto

B. Jatapu
C. Koya
D. Gadaba

Choose the correct answer from the options given below:

. A and C only
.B and D only
.Aand D only
. A and B only
(1) 1
(2) 2

kg =

S ]




3) 3
4) 4

e & 9 9 3 ggar Ui dl & ol & g § I S s § 2

A.Tlel

B. &g
C. Il
D. Tald]

i< fau ¢ faeedl T 9 9el 3R &1 99 Bifor :

1. BaT A ARC
2. %ad B 3R D
3. %ad A dRD
4. BT A ARB

1 1

) 2

@3) 3

(4) 4

1[Option ID=13565]
2[Option ID=13566]
3[Option ID=13567]
4[Option ID=13568]

Sl. No.43
QBID:17043

The concept of community is primarily defined on the basis of common:

A Language

B. Religion

C. Sentiment

D. Geographical area

Choose the correct answer from the options given below:

. A and B only
.B and D only
. A and C only
.C and D only
(1) 1
(2) 2
3) 3
(4) 4

2 =

S ]




JUEM 1 SHAURUN I b SYRT R TR &1 51l 52

A, HTST
B. 41

C. Yigadl
D. Ui &3

= feu U fasedl O 9 gl 3R &1 904 fhiolt:

1. Had A 3R B
2. Had B ARD
3. Pad A AR C
4. FadAC AR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13569]
2[Option ID=13570]

3[Option ID=13571]
4[Option ID=13572]

Sl. No.44
QBID:17044

Examples of 'Sacred Groves' are:

A, Sarna
B. Chir
C. Kekar
D. Jahera.

Choose the correct answer from the options given below:

1. B and C only
2. Aand D only
3. Aand B only
4. C and D only

(1) 1

(2) 2

3) 3

(4) 4

Ofea IuaH! (Hdrs died) & 3ae0 & -

A TR
B. TS

C. FHS
D. W5 sl

= fau ¢ faeedl o 9 Uel IR &1 99 SifoI:

1. BIAB AR C
2. %ad A 3R D
3. %ad A IR B
4. B C ARD

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=13573]
2[Option ID=13574]

3[Option ID=13575]
4[Option ID=13576]

Sl. No.45
QBID:17045

'Dominant Caste'. according to M.N. Srinivas is defined on the basis of:

A. Land holdings

B. Numerical preponderance
C. Varna position

D. Ritual purity

Choose the most appropriate answer from the options given below:

. A and B only
. A and C only
.B and D only
.Cand D only
1) 1
(2) 2
3) 3
(4) 4

0. T, a8 & AR TG (SIHe) S &I Fifdd b TR IR IR g o g 2
A. Yfferian
B. Hifege i siftey
C. Ui
D. IETHS gl

= fqu e fdeedl § 9 9a9 S9gad 9Tk &1 99 SIS

=

S ]

1[Option ID=13577]
2[Option ID=13578]
3[Option ID=13579]
4[Option ID=13580]

Sl. No.46
QBID:17046




Christoph von-Fiirer - Haimendorf tribes studied the following:

A Koya

B. Konda Reddi
C. Gond

D. Yanadi

Choose the correct answer from the options given below:

. A and B only
.B and C only
. C and D only
. D and A only
(1) 1
(2) 2
3) 3
(4) 4

| SR

=S ]

o

FAfaRad (o Sl & ey 1 [oheei® a1 RIW gHUSIW - S (6§ 2

A S

B. BISI gl
c. T

D. gHTE

i< fau Tt fameal § 9 9e9 SUged GOk &1 994 BifelL:

1. %dd AR B
2. %adB AR C
3. %ad C 3ARD
4. HIAD AR A

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13581]
2[Option ID=13582]
3[Option ID=13583]
4[Option ID=13584]

Sl. No.47
QBID:17047

Potlatch involves:

A. Feasting

B. Destroying of property
C. Gifting

D. Exchange

Choose the most appropriate answer from the options given below:

1. A, Cand D only
2.B.Cand D only
3.A,Band C only
4. B and D only
(1) 1
(2) 2




3) 3
4) 4

Uieard 5 Qe a1 s -

A, HISTeAT

B. JURI &I ¥ Tl
C. GUBR &

D. falHHg

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. HadA, C HRD
2. HAdAB, C AR D
3. AT A, BIRC
4. HIAB ARD

1 1

) 2

@3) 3

(4) 4

1[Option ID=13585]
2[Option ID=13586]
3[Option ID=13587]
4[Option ID=13588]

Sl. No.48
QBID:17048

Which of the following books are written by Verrier Elwin?

A. The Myths of Middle India

B. The Mundas and their Country
C. The Naked Nagas

D. The Muria and their Ghotul

Choose the most appropriate answer from the options given below:

.D and C only
A and D only
. C and B only
. A and B only
(1) 1
(2) 2
3) 3
(4) 4
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fr=TfaRad & 9 o q&aa! &1 e afeR Ufea= = [ g 2

A. g fireg offe fafsa sfem
B. g 43161 S G el

C. & 4P s AN

D. g JRA1 TS TWR Uigd

- fGU T fap el § ¥ 9ad Iugad SR &1 99 Difold:

1.HaaD 3R C
2. Had A ARD
3. %ad C IR B
4. FATAIRB

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13589]
2[Option ID=13590]

3[Option ID=13591]
4[Option ID=13592]

Sl. No.49
QBID:17049

'Swidden', as a form of cultivation is practiced by:

A, Jaunsaris
B. Kadars
C. Khasis
D. Baigas

Choose the most appropriate answer from the options given below:

1. B and C only
2. Aand C only
3.B and D only
4, C and D only

(1) 1

(2) 2

3) 3

(4) 4

fr=fafad & 9 % gRI $Y & U6 UHR & &9 § Wi &1 YIHT {601 9l o

A, SR
B. SR
C. A
D. &1

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. BIAB AR C
2. FAAAIRC
3. %adB AR D
4. B C ARD

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=13593]
2[Option ID=13594]

3[Option ID=13595]
4[Option ID=13596]

Sl. No.50
QBID:17050

Identify two of the factors mainly responsible for the decline of 'Jajmami system'.

A. The abolition of untouchability
B. Availability of caste free occupations

C. Decline of traditional authority system
D. Role played by social thinkers

Choose the correct answer from the options given below:

. A and B only
.B and C only
. C and D only
.Aand D only
(1) 1
(2) 2
(3) 3
(4) 4

SIS Tl & BT o SuRal &l T BRI ol fHied Hifug:

A. RG] B FHAT
B. W1 e o0aH &1 ST/l
C. URURD I oo el &1 UdH

D. AT fae! grR1 fAaiigd Y
- fau U fam ol § ¥ Ted S9gad SR &1 99 SIfWT:

1. $ad A 3R B
2. PadAB AR C
3. %ad C AR D
4. Had A R D

(1) 1

(2) 2

3) 3

(4) 4

2 =

S ]

1[Option ID=13597]
2[Option ID=13598]
3[Option ID=13599]
4[Option ID=13600]

Sl. No.51
QBID:17051




The Neolithic culture is characterized by:

A. Semi-permanent settlements

B. Cultivation of millets and domestication of cattle
C. Animal husbandry and dairying

D. Production of pottery

Choose the most appropriate answer from the options given below:

A, Cand D only
.Cand B only
.A,Band D only
.B. Cand D only
(1) 1

(2) 2

3) 3

(4) 4

AqUIYIIOTe Hehld @1 [aRITaTd &:

A SRy AT

B. HI< 316 ®f Wil Ud U3} &1 Ureie §1
C. gUTE Ud SX-FET

D. IS &1 35

- feu e fam el § ¥ 9ed SUgad TR &1 99 B

1. HAd A, C 3R D
2. %ad C AR B
3. %dd A, B AR D
4. ®adA B, C AR D

(1) 1

(2) 2

3) 3

(4) 4

e

= ]

1[Option ID=13601]
2[Option ID=13602]
3[Option ID=13603]
4[Option ID=13604]

Sl. No.52
QBID:17052

The ceramic types that characterize the Indian Protohistoric cultures are:

A. Northern Black polished ware
B. Southern Brown polished ware
C. Painted Grey ware

D. Ochre coloured pottery

Choose the correct answer from the options given below:

. A, B and C only
.B. Cand D only
A, Cand D only
.Aand D only
(1) 1

(2) 2

b3 =

o T2




3) 3
4) 4

YR SRUAEIS Tepid &1 [T $3 a1d Jauis UK o:

A, ITRI P UIIRER Ui (A6 &ie YITeRs dav)

B. gi&ft arerHt TIEER Yis (T2 S1Us- UIferes 9uv)
c. Rty R gavis (3RS 3 3w

D. IR® HEUTS (3i1h Hars dieh)

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. PAAA, B AR C
2. HAAB, C AR D
3. HAA A, C AR D
4. BT A ARD

1 1

) 2

@3) 3

(4) 4

1[Option ID=13605]
2[Option ID=13606]
3[Option ID=13607]
4[Option ID=13608]

Sl. No.53
QBID:17053

Which of the following cultural traits are paired correctly?

A. Pebble Tools - Anvil Technique

B. Rock Art - Upper Palaeolithic

C. Flake Tools - Fluted Core technique
D. Microliths - Compound tools

Choose the correct answer from the options given below:

.A.Band D only
A, Cand D only
.B, Cand D only
.Aand D only
(1) 1

(2) 2

3) 3

(4) 4

ka2 =

S ]




Rrefifad & S o9 2 Sheplis qeo a8 gt 8

3R — Fenfa wfafy ufae efds)
B. I Tl — wm(mﬁﬁmﬁfﬁm
C. }IeP JYBR — Iigad PIs Hidfe (RIS PR o)

D. ¥J&H 9§ — {-!gﬂh'i GHE U {muld'ﬁ &)
- fGU T fap el § ¥ 9ad Iugad SR &1 99 Difold:

1. AT A, B 3R D
2. %A A, C 3R D
3. %ad B, C AR D
4. Had A R D

(1) 1

(2) 2

@3) 3

(4) 4

1[Option ID=13609]
2[Option ID=13610]
3[Option ID=13611]
4[Option ID=13612]

Sl. No.54
QBID:17054

The Indus Civilization is considered as an early urbanization in Indian sub-continent due to:

A Evidence of early overseas trade at Lothal

B. Prolific use of iron for manufacture of armory of warfare

C. Planned township on grid pattern at Dholavira

D. Civic structures like 'Great Bath' and underground drainage at Mohenjodaro

Choose the correct answer from the options given below:

1. A, Band D only
2. A, Cand D only
3. Aand D only
4.B,Cand D only

(1) 1

(2) 2

3) 3

(4) 4

] F1dl 1 YR unglgy 8 SRS TR0 & =0 8 T §1dl § Hiid:

A ﬁw%mﬁra{ﬁﬁqﬁﬂﬁaqﬁﬂw%m&ﬁ
TRANTR & 110 8 W18 &1 UgRdl 9 Wi
I g1 1S Uiy R SnuTid FHaiferd TR gt
D. HigTulEs! 8 UK S8aETHIR U4 HiETd od Far ol TR-favgs dw=mn

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. Had A, B IR D
2. BAAA, C 3R D
3. %ad A IR D

4. HadA B, C AR D

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=13613]
2[Option ID=13614]

3[Option ID=13615]
4[Option ID=13616]

Sl. No.55
QBID:17055

The 'Peak Height Velocity' during adolescence signifes :

A. Attainment of adult height

B. Onset of increase in height

C. The time when the growth velocity reaches the highest peak in stature
D. Usually girls reach peak height velocity earlier than the boys

Choose the most appropriate answer from the options given below:

. A and B only

. C and D only
.B and C only
.A. B and C only
(1 1

(2) 2

(3) 3

(4) 4

fEF=IRTGRIT & R Y Bg aTT BT 3R &

A. GO DG DI Wi

B. ¢ H gfg 3t Y3

C. 98 YUY 59 B P glad? U Jai= UY R Ugadrs
D. H: T5ihdl ds®i O Ugd Y &g a7 UIel Sl o

N R A

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. Bdd A AR B
2. %ad C AR D
3. %ad B AR C
4. BAAA, B AR C

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13617]
2[Option ID=13618]

3[Option ID=13619]
4[Option ID=13620]

Sl. No.56
QBID:17056




Which of the following are the autosomal recessive disorders?

A. Achondroplasia

B. Huntington disease
C. Sickle cell disease
D. Phenylketonuria

Choose the most appropriate answer from the options given below:

. A and C only
.Cand D only
.B and C only
. A and D only
(1) 1
(2) 2
3) 3
(4) 4

frferad 3 9 o @ sifcmg yg=me faer g2

A. TSI
B. §i=ATe AT
C. f¥epa e T
D. TS a®Ie] Rl

- feu e fam el § ¥ 9ed SUgad TR &1 99 B

1. HBITAARC
2. %ad C ARD
3. Pad B AR C
4. BT A ARD

1) 1

(2) 2

(3) 3

(4) 4

e

e

1[Option ID=13621]
2[Option ID=13622]
3[Option ID=13623]
4[Option ID=13624]

Sl. No.57
QBID:17057

Which of the following statements are associated with Heath-Carter (1990) method of assessing somatotype?

A. Endomorphy is derived from the sum of three skinfolds

B. Mesomorphy is deseribed as fat-free mass relative to stature

C. Ectomorphy is assessed using ponderal index

D. This method combines both photoscopie and authropometric procedures to estimate somatotype.

Choose the most appropriate answer from the options given below:

. A, B and C only
.B, Cand D only
.A, B and D only
LA, Cand D only
(1) 1
(2) 2

kg =

S ]




3) 3
4) 4

fFr=fafad & 9 oY Y- PAUREY (HIHcielzy) & Jedid- & giddies Usid (1090) I Hefid g7

A. RIETHINGT (TG &1 DI 9 d61 & TR I U &1 il o |

B. BHHIG] &1 $g (XaR) P A1U& a91-Gad B Yol (he-3b1 B4 O19) & =4 § gui [Ga1 9 g |

C. UIFSd YA B IUTN X qaIPpiad| (TaHIP]) T Tedie fadr ol 3 |

D. U8 $UYFY (HHEeRY) & A & AU BieRa Yl sk g gsfodl <Hi o Saifsa $xdl 8

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. PAAA, B AR C
2. HAdAB, C AR D
3. HAAT A, B IR D
4. HBAAA, C ARD

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=13625]
2[Option ID=13626]
3[Option ID=13627]
4[Option ID=13628]

Sl. No.58
QBID:17058

Stated below are some of the dermatoglyphic characteristics. Which of the characteristics are correct?

A. Pattern size is obtained by ruling a line from each triradius to the core of the pattern and counting the
number of ridges it crosses

B. The pattern size score of whorls are more than arches.

C. The number of triradii for double loops and whorl 1s the same.

D. The range of pattern intensity ranges from 0 to 10.

Choose the most appropriate answer from the options given below:

A, B and C only
.B, Cand D only
A, Cand D only
.A.Band D only
(1) 1
(2) 2
3) 3
(4) 4
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A. UTOT ATHR (G- T80 BT IS Caisdd 3§ Hiaed & R a® &1 9k &% 3R Ree &1 R
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B. e & WAy @R 3l 4 SfEa |

C. 590 W SR Id & o7y TefEars &1 S 9aE 3

D. U=t & digal B1 a1 0 ¥ 10 TP &

- fAu T fow el § ¥ 9ad Iuged ST &1 997 Difoie:

1. AT A, B 3R C
2. %ddB, C AR D
3. %dd A, C 3R D
4. BITA. BIHRD

1) 1

2) 2

3) 3

(4) 4

1[Option ID=13629]
2[Option ID=13630]
3[Option ID=13631]
4[Option ID=13632]

Sl. No.59
QBID:17059

Evidence of paintings made by Cro-Magnon people were found in the caves located in :

A. Southern France
B. Italy

C. Spain

D. Greece

Choose the correct answer from the options given below:

1. A and C only
2. Aand B only
3.A.Band C only
4. A.B and D only
(1) 1
(2) 2
3) 3
(4) 4

10 ART gRI &1 75 SR & Aied FHE=fiiad 3 § oo ®iml 1R saf@id Tore § U gu 2

A, SI&UT i
B.Scdl
C. &

D. ZAH
1= fqu ¢ [deredl § 9 9ad SUgad STk &1 90 S

1. Bad A AR C
2. Had A RB
3. PAAA, B IR C
4. HBdd A, B3ARD




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13633]
2[Option ID=13634]

3[Option ID=13635]
4[Option ID=13636]

Sl. No.60
QBID:17060

Which of the following are the characteristics of haptoglobin?

A This 1s a o2 globulin

B. This 1s a B globulin

C. It has a molecular weight 85000

D. It is concerned with transferring free haemoglobin to liver.

Choose the correct answer from the options given below:

A, B and D only
.B, Cand D only
.Aand D only
A, CandD only
(1) 1

(2) 2

3) 3

(4) 4

gUrGle P fogman Fefafad A eH d@ e

A. T8 o2 TAISI[CH §

B. T p TSI &

C. THPHT HUMR 85,000 TIAT 3

D. U8 TPd H gad sianaiies & iRl 3 Hafed giar o

b =

e Ll

1= fau ¢ faeedl o 9 9ad SUgad Gk &1 95 SIS

1. Had A, B AR D
2. HAdAB, C AR D
3. %ad A dRD

4. HBAAA, C ARD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13637]
2[Option ID=13638]

3[Option ID=13639]
4[Option ID=13640]

Sl. No.61
QBID:17061




Select the correct statements with respect to pleiotropism.

A. A gene 1s said to be pleiotropy 1if it affects more than one trait
B. Phenythetonuria is an example of pleiotropy

C. A condition where one gene has several alleles.

D. A trait is said to be pleiotropic if several genes control it.

Choose the correct answer from the options given below:

. A and C only
.Aand B only
.B and C only
.C and D only
(1) 1
(2) 2
3) 3
(4) 4

frofieiies  ddy & 98 w31 g

|

=S ]

A. U SF BI [I3B] B8 S1d1 3, TfS 98 U I SHid Te0 Bl JHIfdd ol g
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C. g fRfd, fored Uo S & 3Fe Taite gid o

D. U% @& ®1 (I3 Pol oIdl §, Iia 3 ol H sud| HafEd Pd |

- fAu T fas el § 8 9ad Iugad SR &1 90 Bifold:

1. Bdd A R C
2. Had A AR B
3. %ad B 3R C
4. HadC 3ARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13641]

2[Option ID=13642]

3[Option ID=13643]
4[Option ID=13644]

Sl. No.62
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Which of the following characteristics are associated with Homo erectus?

A, Manufactured hand axes
B. Erect Posture

C. Co-existed with Homo sapiens
D. Cranial capacity about 900 CC

Choose the correct answer from the options given below:

.A. B and C only
.B, Cand D only
LA, Cand D only
. A, B and D only
(1) 1
(2) 2

e L 2




3) 3
4) 4

ffeRad SH- faivan eriigiecy 3 Usiid 82
A Tg%hads oy
B. S3a¢ UITeR

C. 8T & 1Y Ug-f&iadq
D. 900 Yl & TTHIT HUTA &Hdl
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1. PAAA, B AR C
2. HAAB, C AR D
3. HAA A, C AR D
4. HBdAA B IARD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13645]
2[Option ID=13646]

3[Option ID=13647]
4[Option ID=13648]

Sl. No.63
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Which of the following characterises parapithecides ?

A. Pliocene

B. Egypt

C. Small monkey like creature
D. Oligocene

Choose the correct answer from the options given below:

. A, B and C only
.B and C only
.B, Cand D only
.Cand D only
(1) 1

(2) 2

(3) 3

(4) 4
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B. g
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- fGU T fap el § ¥ 9ad Iugad SR &1 99 Difold:

1. AT A, B3R C
2. %A B AR C
3. %ad B, C AR D
4. %FadC AR D
(1) 1
(2) 2
@3) 3
(4) 4
1[Option ID=13649]
2[Option ID=13650]

3[Option ID=13651]
4[Option ID=13652]

Sl. No.64
QBID:17064

The "Y-5' identical pattern :

A. Is a characteristic of hominoids

B. Refers to the cusps and fissure patterns of teeth
C. Is a characteristic of Dryopithecids

D. Is not found on molars

Choose the correct answer from the options given below:

1. A and B only
2.D and C only
3. A B and C only
4. A and C only
1 1
(2) 2
(3) 3
(4) 4




Y25 &d Wide (Ue) &

A. EHIFS ®f TP fagiwdr

B. 3id & $&g U4 fihIR Ufo=u 4 Tafid g
c. rfAfrey @ te fogvar g

D. Iauie H§ 8! Tl oldl §

- fGU T fap el § ¥ 9ad Iugad SR &1 99 Difold:

1. Had A 3R B
2.HFAD AR C
3. PAA A, BIARC
4. FAAAIRC
(1) 1
(2) 2
@3) 3
(4) 4
1[Option ID=13653]
2[Option ID=13654]

3[Option ID=13655]
4[Option ID=13656]

Sl. No.65
QBID:17065

Which of the statements accurately denote 'genetic fitness'?

A. Adaptability to various habitats

B. Number of mates each individual selects

C. The contribution of a genotype to the gene pool of the next generation
D. The ability to live and reproduce.

Choose the correct answer from the options given below:

1. A and B only
2. Aand D only
3.Cand D only
4. B and C only

(1) 1

(2) 2

3) 3

(4) 4

SIS AR Tdg IugeRidl & forg & H Taiid ®ed § 94 Fefaiad &2l ¥ 8 oH Faiiie
FeTP $U H UKD Dl 62

A. fafqy yoR & arE & uid s 2|

B. Td fek] GRI I o alel WS (S &1 & |

C. 3Tcil Uit & SiiAue (Hem) H fodt SiFiegy &1 argH|
D. Sii- UG Ui §q W&

1= fqu ¢ fdeedt § O Hel SR o1 994 ST

1. Had A 3R B
2. Had A ARD
3. %ad C AR D
4. FAAB IR C




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13657]
2[Option ID=13658]

3[Option ID=13659]
4[Option ID=13660]

Sl. No.66
QBID:17066

Match List I with List IT

LIST1I LISTIT
i Toln I |Third Five-Year Plan
Development Projects
Tribal Development Block II.  |Second Five-Year Plan
Modified Area Development " -

Agency (MADA) III.  |Fifth Five-Year Plan
Tribal Sub Plan IV, |Sixth Five-Year Plan.

Sl 0 W »

Choose the correct answer from the options given below:

1. A-L, B-II, C-III, D-TIV
2. A-II, B-I, C-IV, D-III
3. A-II, B-IV, C-1. D-III
4. A-IIL B-I, C-II, D-IV

1) 1

(2) 2

(3) 3

(4) 4

=l 1 1 Y1 11§ e Sifoe

T Tt I

. |[TEESE SN | ﬁ;ﬂmﬁq
e fEEE | Gdg daauig
;T P

e
R 97 [geTy PP
C. |0 (@HT ST | 1L ﬁ

D)
D. [SASc US| IV, (81 Uaauid gl

| e M . 1. e VBTN '] [

AEEd f[deedl § 9 9a! 3 &1 949 BIoTl

. AL, B-II, C-III, D-IV
. AL, B-I, C-TV, D-III
. A-II, B-IV, C-I, D-III
A-IIL, B-I, C-I1, D-IV

(S

:l.‘.L.u

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13661]
2[Option ID=13662]
3[Option ID=13663]
4[Option ID=13664]




Sl. No.67

QBID:17067
Match List I with List IT

LISTI LISTII
A |Genealogical method I.  |G.P Murdock
B.  |Cross-cultural method II. M. Gluckman
C.  [Participant observation 1. |[WHE. Rivers
D |Extended Case method IV, |B. Malinowski

Choose the correct answer from the options given below:

L R e R

(1)1
(2) 2
(3) 3
(4) 4

. A1, B-I, C-IV, D-III
. A-IV, B-III, C-II, D-I
. ATIL, B-1, C-TV, D-TI
. A-TIL, B-II, C-IV, D-I

= 1 1 T 11 ¥ e Sifee

T I

i

EIREIE

IL.

1L

H TAHAH

D

IV

ol Afcraeh

i fomedl § T U8l IR &1 994 Sy -

1. A-II, B-1, C-IV, D-III
2. A-IV, B-III, C-II, D-I
3. AL, B-1, C-IV, D-II
4. A-IIL, B-IL, C-TV, D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13665]
2[Option ID=13666]

3[Option ID=13667]
4[Option ID=13668]

Sl. No.68
QBID:17068




Match List I with List IT

LISTI LIST II
A |Bisipara ] Stanley Freed
B. |Kishan Garhi II. |Kathleen Gough
C. |Shanti Nagar L. Mckim Marriott
D |[Kumbapettai IV. |F.G. Bailey

Choose the correct answer from the options given below:

1. A-II, B-II, C-IV, D-I
2. AL B-II, C-IV, D-III
3. A-ITL, B, C-II, D-IV
4. A-IV, B-IL, C-1, D-TI

(1) 1
(2) 2
(3) 3
(4) 4
Y1 1 1 =1 11 § e Sifoe
AT T I
A [ediurs L [EHd Bl
B [[har el I [hyelH TH
C. RIFR 1. [HigeHH HRAlS
D |prEmiss IV. [owsll. sl

[ o [ [al et

FTeRgd [d®edl § O 98l 3R &1 944 S

1, B-III, C-IV, D-I
1, B-II, C-IV, D-IIT
III, B-I, C-II, D-IV
IV, B-IIL, C-1, D-II

1. A-
2. A-
3. A-
4. A-
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13669]
2[Option ID=13670]

3[Option ID=13671]
4[Option ID=13672]

Sl. No.69
QBID:17069

Match List I with List IT

LIST1I LISTII
A |[Keneth Kennedy I.  DMarxist Anthropologist
B. |Dian Fosse II. |Primatologist
C. Maurice Godelier III. |Palecanthropologist
D [Charles Peirce IV, [Linguistic Anthropologist

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV
2. AL B-I1, C-I, D-IV
3. AL, B-IIL, C-I, D-TV
4. AL B-II, C-IV, D-III




1) 1

(2) 2
(3) 3
(4) 4
=i 1 1 =il 11 ¥ e o
T I Tt I
A [y B L |ATeRarg] J-far
B [Go9®E 1. [rEHe-fagm
~-fasrEt
C. [HIeE TMeiae IL
ICIRIEES)
D. [@rd umy V. M it
frefered faweal & ¥ gt IR & 99 SIS
1. A-II1. B-1. C-II. D-IV
2. AL, B-I1, C-I, D-IV
3. AL B-IIL. C-1. D-IV
4, A-1, B-I1, C-IV, D-III
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13673]
2[Option ID=13674]
3[Option ID=13675]
4[Option ID=13676]
Sl. No.70
QBID:17070
Match List T with List IT
LISTI LIST 11
A |Megalithic il Pit-dwellings
B. |Neolithic II.  |Pygmv tocls
C. |Mesolithic III. |Copper tools
D. |Neolithic Chaleolithic IV,  |Memorial Stones

Choose the correct answer from the options given below:

=

3
4

. A B-II, C-IV, D-III
. A-TTL, B-TV, C-I1, D-TI
. A1, B-IIL, C-1, D-IV
. A-TV, B-I, C-II, D-III
1) 1
(2) 2
(3) 3
4) 4




= 1 1 T 11 ¥ e Sifoe

T I

T I

Tdtarg

& (O ST

- [dTH FURUT

f=fafad fawedl 0 9 T8l 3R &1 994 i

1, B-II, C-IV, D-III
ITI, B-IV, C-1, D-II

1. A-
2A
3. A-II, B-IIL, C-1, D-IV
4. A-

IV, B-1, C-II, D-III
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13677]
2[Option ID=13678]

3[Option ID=13679]
4[Option ID=13680]

Sl. No.71
QBID:17071

Match List I with List IT

LIST1I

LISTII

Populations

The Genetics of Human

M. Kimura

Human Genetics

1L

L L. Cavalli-Sforza and W.
Bodmer

C.  |Mankind Evolving

I

WA Mckuscik

D.

Molecular Evolution

The Neutral Theory of

IV

T. Dobzhansky

Choose the correct answer from the options given below:

1. A-IIL, B-I, C-IV, D-II
2. A-TI, B-TV, C-I, D-TII
3. A-II, B-IIL, C-IV, D-I
4. A-IV, B-I1IL, C-II, D-I

1 1

(2) 2

(3) 3

@) 4




=1 11 =T 11 ¥ e Sifoe

T I T I
A [EoHTeE o .
B T i
U qe. wrafe
B. [6gad oHfead I [Bhie 3R 3=y,
EISEE!
C. [P5S saiedy | I |41 A%
& <gd Rl 3Hh
D. MifceeR V. [, Slagin!
fFTferiad fadedl O 9 981 IR &1 994 B ;
1. A-IIL B-1. C-IV, D-I1
2. A-TLL B-IV. C-1. D-III
3. AL B-IIL, C-IV, D-I
4. A-IV. B-III. C-I1. D-I
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13681]
2[Option ID=13682]
3[Option ID=13683]
4[Option ID=13684]
Sl. No.72
QBID:17072
Match List T with List IT
LISTI LISTII
A |Omo-Kibish L Erstwhile Czechoslovakia
B. |Qafzeh II. |Ethiopia
C. |Border Cave IIT.  |Israel
D |Predmosti IV. |South Africa

Choose the correct answer from the options given below:

. A-TV, B-IIL, C-I, D-II
. A1, B-IL, C-TV, D-I
. AII, B-1, C-IV, D-II
. A-IV, B-I, C-III, D-II
1) 1
(2) 2
(3) 3
4) 4

=

e e




= 1 1 T 11 ¥ e Sifoe

Tt I T II
A, |3E-fefaRr G ECAESIC G
B. [@huig I [Fumi
C. [STe®a I [3eREa
D. [USARd] IV. [GI&0T SThidhI
At fomedl § T el IR &1 994 S -

1. A-IV, B-III, C-I, D-TI
2. A-II, B-TII, C-IV, D-I
3. AL, B-1, C-IV, D-II
4. A-IV, B-1, C-TII, D-TI

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=13685]
2[Option ID=13686]
3[Option ID=13687]
4[Option ID=13688]

Sl. No.73
QBID:17073

Match List T with List IT

LIST1I LISTII
PR T -, I Eil::'hcn of Chromosome 11
o O . jii [[sedslclomdt,
chromosome 13q 11 - 13

ol e T I Duplication in shortarm of

) & © |chromosome 17p 12
D Charcot-Marie-tooth (CMT) IV Microdeletion of

© |Disorder © |chromosome 3p

Choose the correct answer from the options given below:

. AL B-II, C-I1I, D-IV
. A-TV, B-IIL, C-II, D-I
. A1, B-1, C-IV, D-III
. ATV, B-II, C-I, D-III
(1 1
(2) 2
(3) 3
@) 4

(SR

e e




= 1 1 T 11 ¥ e Sifoe

g 1 I
. MU - 11P13 BT
A S il
PRGICRGH | 1 g
. MORTA - 15q11-13
B. [gree. IL 4
facll RigH @1 Y& faeiio
MO - 1?p§_ G|
EEMEI R EEEUIEEER]
¢ [BTERELAR. |
icTaur (i) @
™
IR®IE - AR 7Y i
D. |duad) dem | IV % fEE Il
(EREIED
fFfRad fodedl ©§ U Tl 3Tk & 949 Do ;
1. A-L, B-IL, C-IIL, D-IV
2. A-IV, B-IIL, C-II, D-I
3. A-II, B-1, C-IV, D-III
4. ATV, B-II, C-I, D-III
1 1
(2) 2
(3) 3
4) 4
1[Option ID=13689]
2[Option ID=13690]
3[Option ID=13691]
4[Option ID=13692]
Sl. No.74
QBID:17074
Match List I with List IT
LISTI LISTII
Environmental Archaeology 1.  |Lewis Binford

Ethno-Archaeoclogy

II.  |Karl Butzer

New Archaeology

III.  |K.C. Chang

Ciow| =

Settlement Archaeology

IV. |M.B. Stanslowski

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-I, D-III
2. A-L, B-III, C-1V, D-II
3. AL, B-IL. C-1, D-IV
4. A-IV, B-I, C-II, D-III

(1) 1

(2) 2

(3) 3

(4) 4




= 1 1 T 11 ¥ e Sifoe

T I T I
A WW L S RS

B. %ﬂﬁ'q“ﬁ IL [®ld g2oi
. A REaaeE | m e
D. ww IV, [UHe ®HwIawD!

frfaiad faeedl § 9 Ul 3R &1 904 SHiforu

1. AL BTV, C-1, D-III
2. A-I, B-III, C-IV, D-II
3. A-ITL, B-II, C-1, D-IV
4. A-IV, B-L, C-1I, D-III

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13693]

2[Option ID=13694]

3[Option ID=13695]
4[Option ID=13696]

Sl. No.75
QBID:17075

Match List I with List IT

LISTI LISTII
A |Aotinae il Langur
B |Cebinae II.  |Potto
C. |Colobinae III.  |Capuchin monkey
D.  |Lorisinas IV.  |Owl or might monkey

Choose the correct answer from the options given below:

1. A-IV, B-IIL, C-I, D-II
2. A-II, B-IIL, C-V, D-I
3. A-IIL, B-1, C-IV, D-II
4. AL, B-1, C-1V, D-III

(1) 1

(2) 2

(3) 3

(4) 4




=1 11 =T 11 ¥ e Sifoe

T I T I
A, @3] L [d'R
B. [Plat . [drel
C. |[PiaieH 1 [y J! (@)
BIEGERE]
D. [ faet IV, [T Hal
(Ea%)

i~ [ [N [al

g [dmedl § I Ugl 3R & 994 S ;

1. A-IV, B-III, C-I, D-II
2. AII, B-IL, C-TV, D-I
3. AL, B-1, C-IV, D-II
4. AL, B-1, C-1V, D-ITI

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=13697]
2[Option ID=13698]
3[Option ID=13699]
4[Option ID=13700]

Sl. No.76
QBID:17076

Sequence the following perspectives in chronological order of their publications from earliest to latest.

A, Sapir-Whorf Hypothesis
B. Age-Area Hypothesis
C. Cultural Ecology

D. Energy theory of culture

Choose the correct answer from the options given below:




frferad uivuet @1 3% UPTRH & BIAHHTER U 7F I 09 & HH H o0afeyd DI
A JUR-dI IRS T (FIR-dID srEUiitfyE)

. F@ﬁ?ﬁqﬁ@ﬁﬁwm
D. Y id &1 Sl Sid (Tol a8 3t dea)

Hid U T [d%edl § T 9el 3R &1 944 Bl

1.A.B,D,C
2B ADE

UCE-

=@
n O

#By
A,

.L‘.L.u

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13701]
2[Option ID=13702]

3[Option ID=13703]
4[Option ID=13704]

Sl. No.77
QBID:17077

Arrange the following committees on tribal development, beginning from the earliest to the most recent.

A. UN. Dheber Committee
B. Mungekar Committee
C. Shilu Ao Committee

D. Bhuria Committee.

Choose the correct answer from the options given below:

1.A.C,B.D
2

ioNehe
np B
woU
>

el

(1) 1
(2) 2
(3) 3
4) 4

STy fderE W s Frefaiad afifaal o uEae 3 1di1ae @ o0 § oafyd i
A. U, UeR Iiofd
B. Hil&x A
C. fRreamsi wfafa
D. Yo gt

i fu 78 fad el § U Tel 3wk &1 944 Difois:

A.C,B,D

1
2
3
4

=Rl
op
wEL
b

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=13705]
2[Option ID=13706]
3[Option ID=13707]
4[Option ID=13708]

Sl. No.78
QBID:17078

Arrange the following works in terms of ascending order of their publications from the earliest to the latest.

A. Argonauts of the Western Pacific

B. The Patterns of Culture

C. Elementary forms of Religious Life
D. The Elementary Structures of Kinship.

Choose the correct answer from the options given below:

.A,B,C,D

e Ta b

JE.
i
o

‘ol et

.B.D
.B.A
.B.D
(1 1
(2) 2

(3) 3
(4) 4

ffeRad Piddl @1 3% UPRH & SFER UrRHTH 9 TdHdH & 3RISI hH H ogaiyd HIfeg:

A JFFIITH 1% § e URifthe
B. §e-4 1P DR

C. Tam= BN e Refiforas o
D. T T Tady 3P [BRY

=t f4u 7T fas el § O 98l IR &1 94 Difele:

A,B.C.D
C.A.B,D
D.B.A
CB. 1

1o =

[ S

By
A,
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13709]
2[Option ID=13710]

3[Option ID=13711]
4[Option ID=13712]

Sl. No.79
QBID:17079




The correct sequence of the following works on rural India starting from the earliest to the most recent is:

A Village India

B. Behind the Mud Walls
C. The Poison in the Gift
D. Remembered Village

Choose the correct answer from the options given below:

.C,B,D,A

1
2

W W
0w
2o e
el

= ]

1) 1
(2) 2
(3) 3
(4) 4

refior YRd R i FEfiEd Sfadt o1 s € sryfeds & 95 § I sed &
A fooier s

B. fogEe g O3 ar

C. g WiguH 39§ e
D. RO=s fads

i f4u 78 fdd el § O Jel 3 &1 994 Difols:

1
2.BADC
5:A:B.C.D
4.B,C,D,A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13713]

2[Option ID=13714]

3[Option ID=13715]
4[Option ID=13716]

Sl. No.80
QBID:17080

Arrange the correct sequence of cultural variants that appeared in prehistoric Europe from the earliest to the
latest phases :

A. Perigordian
B. Tardenoisean
C. Aurignacian
D. Maglemosean

Choose the correct answer from the options given below:

KD

1
2

W
Orw
P2 o
o dn

ool

(1) 1
(2) 2




(3) 3
(4) 4

gd UfceTRie JR1Y & Hehe §1F aId IR iad $UidR & Wl $ipd &I WEHad 4 9diHa9 & &q §
afyd Sifse:

i fou U fas el § 3 gl SR &1 99 BifeI:

:12
» > c
&

t:ﬂﬁ.;},p

Opwo
&EUUU:I

1.
2
3.
4. 5

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13717]
2[Option ID=13718]

3[Option ID=13719]
4[Option ID=13720]

Sl. No.81
QBID:17081

Arrange the archacological sites in sequential order in which they characterize the cultural phases from earliest
to latest.

A. Rakhigarhi

B. Attirampakkam
C. Burzaham

D. Langhnayj

Choose the correct answer from the options given below:

B AT




T RIda-2dl & SIA-HHIR YEHTHE I 9diH08 & oH § oaieyd S, e q
Hiepidd siawi1si oI fRfEHd Fd g

A AT
B. RIFHH

c.goeH
D. TY-T
i U 78 fas e § U Tel 3wk &1 904 Difeis:

KD
.A,B,D,C

WO

o=
F 0

1[Option ID=13721]
2[Option ID=13722]
3[Option ID=13723]
4[Option ID=13724]

Sl. No.82
QBID:17082

Arrange the following landmarks of the upper extremity from proximal to distal end.

A, Acromian
B. Stylion
C. Dactylion
D. Radiale

Choose the correct answer from the options given below:

(4) 4

U R (3R vadiindh & Frfafad i &l FHeedy 3 (i @R & o0 1 ogafeyd S

A THIEET

B. WTEfegE
C. Saiiedr

D. Jfeuq
i f4u 718 fad el © O el 3Tk &1 994 Difoid:

1.C,B,D,A
2.A.D,B,C
:B.D, G A
.A,B,C,D
(1) 1

ES S




(2) 2
(3) 3

(4) 4

1[Option ID=13725]
2[Option ID=13726]

3[Option ID=13727]
4[Option ID=13728]

Sl. No.83
QBID:17083

Arrange the following stages of growth in the descending order of growth rates.

A. Mid-childhood
B. Infancy

C. Prenatal

D. Adolescent

Choose the correct answer from the options given below:

.C.,D.B.A
B.C.D.A
.C,B.D.A
.D.B.C.A
1) 1
(2) 2
(3) 3
@) 4

of2 1 FERRT Joesl 31 9f2 IR F SeNd 31 51 oefud SR

A, HE dledrd=1

B. T¥Iq
C. wEaqd
D. fhRIR

e L D —

< feu e fawed! & 9 961 SR @1 99 S

.C,D.B,A
BCDA
B.D,A
B,C.A

(SR

o
D,
(1) 1
(2) 2
(3) 3
4) 4

[ WV

1[Option ID=13729]
2[Option ID=13730]
3[Option ID=13731]
4[Option ID=13732]

Sl. No.84
QBID:17084




Identify the correct sequence of the following osteological characters as they appear in the human body from
head to foot :

A. Linea aspera

B. Trochlea

C. Foramen Magnum
D. Medial Malleolus

Choose the correct answer from the options given below:

C,A,B.D

L O
oo
F o,
0P w
ggde

(4) 4

RR ¥ O 9% 9Hd IRR & 30 gHard e sifRufasm sifircemn o 98l s § onafud
EI 1:

A T TERT

B. Tidierdn

C. BT 541

D. Hifsga Aferay

= feu e fasedt § 9 96l 9Tk &1 994 Difey:

C.AB,D
A
2D
;D

Opwmm

¥
2
3.
_1

WO
WU,

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13733]
2[Option ID=13734]

3[Option ID=13735]
4[Option ID=13736]

Sl. No.85
QBID:17085

Identify the correct sequence of appearance of the major early humans in chronological order from the earliest
to the latest :

A. Australopithecus afarensis
B. Homo neanderthalensis
C. Homo erectus

D. Homo habilis.

Choose the correct answer from the options given below:

% 0 BT
2 ADEER
3 B0 DA
4.A,B,D,C




(1) 1
(2) 2
(3) 3
(4) 4

U@ SR AHGl DI 390 3gHd P DI H H UEIHaH ¥ T4 HaH & F81 3FhH § ouaieyd Sifeg:

A AT BRI
B. B Fusud=g

C. B9l g¥ded

D. g1 glafe

i fu 78 fad el § U Tel 3wk &1 944 Difois:

1.A,B.C.D
2.A.D,C,B
3.8.0 DA
4.A.B.D,C

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13737]
2[Option ID=13738]
3[Option ID=13739]
4[Option ID=13740]
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Given below are two statements:

Statement I : 'Sacred Complex' involves sacred geography. sacred practices and sacred specialist of Hindu
place of pilgrimage.

Statement I1: A 'Sacred Complex’ reflects a continuity, compromise and a combination of the great and little
traditions.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement IT 1s false
. Statement I is false but Statement IT is true
(1) 1
(2) 2
(3) 3
(4) 4
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e L




B IE AL AIC N CURI I
HY1 : Ulgd 9o 3 g5 o R &1 9167 17le, 98- puTd 3R uraH faeivgeH aiifia 3

HUF 11 : UG S FRaval SO JEsiar ik He@yul Ud A1eRu RERis (JIe Us foed ¢iee=m) &1
e PR gl

SRIFd YA & ATAS ¥ = 50 v Gwedi § ¥ Ut 3R &1 999 Sifog:

1. BYT1 AR TS T &
2. BYFI AR I AT AT ®
3. PYT I TA ¢, AP DU 1 T 8
4 B AR, AP FHE 1T &
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13741]
2[Option ID=13742]

3[Option ID=13743]
4[Option ID=13744]
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Given below are two statements:

Statement I : Like positivism, phenomenology is a philosophy of knowledge that lays emphasis on direct
observation of phenomenon.

Statement I1: Unlike positivists, however. phenomenologists seek to sense reality and describe it in words
that reflect consciousness and perception.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement IT is false
. Statement I is false but Statement IT is true
(1)1
(2) 2
(3) 3
(4) 4

9 gty Ry U :

HY 1 : UA&AIS (UifoTiefdon) &1 dRe YR (Bi-Icion) U JH-a2 8, S gRbe] & Hg
acled W ad ST gl

HUF 11 : YA&ATE & faudtd, Sgiored gurdar & 7 SR S Weai 8 gUf- &7 Vg $%d §, 5 Ja]
3R Y& &1 wiafeig sai ol

IWRITd HYH & 3Tl H i 13U MU famedi § T el 3R &1 904 I

1. DY R I EH T &
2. BYF1 AR I EH 3T ©
3. PUTI I 8, AP PUT 1 3T B
4. FYF T E, AT YT I T ©
(1)1
(2) 2
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(3) 3
(4) 4

1[Option ID=13745]
2[Option ID=13746]
3[Option ID=13747]
4[Option ID=13748]

Sl. No.88
QBID:17088

Given below are two statements:

Statement I : According to B.S. Guha's classification of Indian populations, Mediterranean and Orientals are
the two sub-categories under the category 'The Mediterranean'.

Statement I1: The only difference in the physical feature between Mediterranean and Oriental sub-categories
is the long and convex nose among the later sub-category.

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement I and Statement IT are correct
Both Statement I and Statement IT are incorrect
Statement I is correct but Statement IT 1s incorrect
Statement I is incorrect but Statement IT is correct

b=

B

(1) 1
(2) 2
(3) 3
(4) 4

TR eEfume:
YL : a"rwﬁéﬂm‘cﬁﬂmww & O & SHR BfSeRTA R U= (3ka<a) g
& &I JuaT gl
@Y 11 : AfgeRme 3R e Iu-avif & &g IR fagwar § $ad sidv a5 & 39-a71 | @a1 ud 3ad
(@I-da) T1F g |
IRIGd HYA & 3Tl H =i 13U U famedi § T el 3R &1 994 HIf:

1L BYF IR IS TT
2. BUYFI AR I EHT 3T ©
3. PUT I U ©, A DUT 1 3T §
4 FUFE IS, AP FHE 1 I §
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13749]
2[Option ID=13750]
3[Option ID=13751]
4[Option ID=13752]

Sl. No.89
QBID:17089




Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason B.

Assertion A : The mental ability of Homo sapiens had been matured enough to cognize the biotic and
aesthetic understandings of nature as depicted on cave walls and ceilings.

Reason R : The progressive development of brain and the changing environmental conditions contributed to
the development of thinking capacity of humans.

In the light of the above statements, choose the most appropriate answer from the options given below

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R 1s not the correct explanation of A
. A is correct but R is not correct

. A 1s not correct but R is correct

(1) 1
(2) 2
(3) 3
(4) 4

=i 31 PUA AU U B: U MDY (Assertion A) & =0 H fafgd 8 df §ERT 3UD BRI (Reason R) &
F0 o

EY A : S AT o aFR® e, Side oIk died Jdeh yofd o 9rsi & R § i w9
uRgea g Ui, SEie w1 &1 dlaR] e §di IR fAd fear mng |

PRUIR : AIETH &1 HHF G IR uhadeiiea maieeu-fRufaai = 7re oifd & 9= & emar &
fgera O grTeE fean)

IWRITT HYH & 3Tl H =i 13U MU famedi § T gl 3R &1 904 I

A 3R R I T § 3R R, A T TSI R €

A R R 3T I8! 8, AP R, A P! Yol AR -T2l &
ATSeAPIRGE TS

AT T AfFTR R

(1) 1
(2) 2
(3) 3
(4) 4
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P

1[Option ID=13753]
2[Option ID=13754]
3[Option ID=13755]
4[Option ID=13756]
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Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason B.

Assertion A : Tropically adapted populations have linear body builds, characterized by low body mass, small
trunks, and relatively long arms and legs.

Reason R : This morphology allows for both reduced metabolic heat production and efficient heat loss due to
high surface area : weight ratios.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
(1) 1
(2) 2




(3) 3
(4) 4

:ﬁﬁgmﬁnﬂt{% TP HUHYT (Assertion A) B =Y H fIRGd § f GUT IUD PRUI (Reason R) P
U H:

HYFHYF A : FUrGicgdT SHEEI 1 TRR T9A1 dal ([AaR) dardl, 5l & dlsl 79, Bic 48
3R ATUfée =9 ¥ del 9161 Ud URT gR1 9= gidl 8|

BRUIR : T8 HBIRD! (Hbiaien) e Tag! &= a5 SUd & HRU HH SUr=E 3] & IdE
3R S HRIH-IT &1 B SH Sl 3

IWRIFd HYH & 3Tl H =i 13U MU fadedi § T gl 3R &1 904 I

. A 3R R 3HI TEI § 3R R, A $1 T RS &

. A 3R R 3T I8! 8, AP R, A D! el RS T8l &
ATS AR TS TS B

AT TN AfrTR T R

(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=13757]
2[Option ID=13758]
3[Option ID=13759]
4[Option ID=13760]
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Read the given paragraph and answer the five questions that follow:

If one dimension of the cockfight's structure, its lack of temporal directionality, makes it seem a typical
segment of the general social life. however. the other, its flat-out, head-to-head (or spur-to-spur)
agoressiveness, makes it seem a contradiction, a reversal, even a subversion of it. In the normal course of
things. the Balinese are shy to the point of obsessiveness of open conflict, oblique. cautious. subdued,
controlled. masters of indirection and dissimulation-what they call as."polished"."smooth" - they rarely face
what they can turn away from, rarely resist what they can evade. But here they portray themselves as wild and
murderous, with manic explosions of instinctual cruelty. A powerful rendering of life as the Balinese most
deeply do not want it (to adapt a phrase Frye has used of Gloucester's blinding) 1s set in the context of a
sample of it as they do in fact have. And. because the context suggests that the rendering, if less than a straight
torward description, is nonetheless more than an idle fancy; it is here that the disquietfulness-the
disquietfulness of the fight, not (or, anyway, not necessarily) is patrons, who seem in fact rather thoroughly to
enjoy it emerges. The slaughter in the cock ring is not a depiction of how things literally are among men, but,
what is almost worse, of how, from a particular angle, they imaginatively are. The angle. of course, 1s
stratificatory. What, as we have already seen. the cockfight talks most forcibly about is status relationships.
and what it says about them is that they are matters of life and death. That prestige is a profoundly serious
business is apparent everywhere one looks in Bali-in the village. the family, the economy, the state. A peculiar
tusion of Polynesian title ranks and Hindu castes, the hierarchy of pride is the moral backbone of the society.
But only in the cockfight are the sentiments upon which that hierarchy rests revealed in their natural colours.
Enveloped elsewhere in a haze of etiquette, a thick cloud of euphemism and ceremony gesture and allusion,
they are here expressed in only the thinnest disguise of an animal mask. a mask which in fact demonstrates
them far more effectively than it conceals them. Jealousy is as much a part of Bali as poise, envy as grace,
brutality as charm; but without the cockfight the Balinese would have a much less certain understanding of
them, which is. presumably. why they value it so highly.

Ve Tl Bl 9feT 9 399 a1e I U Wyl & IR aIfor:

i graToll SR D1 TS 1AW, SHS| Alfde [SRIaHdl BT $1YTd, 38 FH- e sila- &1 UH
TR 1T SR eltd @var B, auTfia, SRR 5@t W, R 9 RR cavm (eyar de 3 @) Bt
BTG, 53 U dfdiy, Ue [quaiy, Ugi a@ & 9T JH19- o1 Uatd ®-idl ¢ | 9o feufot
o, arell aRi Gd g8 @1 B B U1 a% Sl 5id o | SRy, ey, Jid, Fafa, dRiear a fsug
& HRex, TN 88 941 Bed 8, "R, "FRea-gus" - [ 3 18, Hie Ybdl 8 SUPI 4 favd € 9
A € IR D1 3 URER B b &1 TSI oRal € WieRlY $d &1 IR Uei d W Pl Sirell iR
6 & U T, Tga $xdl & [a1&rd fawmiel & Iy [RfEd &3d g1 U8 Siia- &1 Us SRrad =, Sfe
STATaTRIT ST oIS 4 B To] B © (B1g, GRI TSR P 3T T8 o+ & Gae H Jgaq
IIIRI 1 =UiaR DRd gU), T8 HeY & Igex0 & =4 § foar Siral § ol [ araa 8 SAdi © | iR
i ug Yeu Uohd $xdl ¢ 1% g Fpo, ot g dierg=r aviA At off &, A i se s e A
wel AP T; Tei 98 S9-T SUT §. TSTS B a9, (YT, AP 9 I e 3P e P el

3o AR ol UHI Weild 811 & 19 d SHP] SiSd & oid 4, 34l ¢ | g1l rars § 48 et 3 Il
& o9 ot Rl & wisss a6 8, ioeg, S 59 W 0 B, & oo ooin foRiy @ oreaie Su a3
U §1 4% U8 SIU1 WRd 8| ST 87 U8d 4l 6, Srafy® gRaaR=T § fRufa Tesi @t aa
FAT § SR U8 ol 3% aR & Fgdl 8§ 8 § & 3 offa SRk gy & fawa 81 arelt 7 oma et +ft 2w, wia
H, gfvar 3, siferaen o, o0 . oy e & 9 daf srais 1R fawg g1 o ual gefaal
R fe=g il @1 [y =1, 7d P1 UaehH T61 & FHIS B -ldP Has & | IRy U8 Tiiareil # 81
& [  YTaHU 319 Wi 3N 1 faETg &l & fo9 IR U 9aTehd a8 30 ool RIFER & 44,
T SR TARTG, U 3R Hood! & 94 argal 9 Sr=sliea. mﬁwwg@éﬁﬂﬁ?{@@m
T, U U gter ol arad H i T & Sl o offtie wiid w U H S iftorad sxar g | S
i GTell 1 1 §1 W & 11 1 e, Wei=al & &0 H 591 Wiegdl & 9 § Faidl; Req Jriarsi
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According to the aforesaid text the most common feature of Balinese Social organisation is:

. Euphemism
. Conflict

. Hierarchy

. Competition

L =

.

(1)
(2)
(3)
(4)

YT TR & SR, HHIGTE W69 61 Hal[4e JH- G& - 0 4 S Il 6 2

1. HITTHIST
2. 69
3. UewH
4. gfamyf
(1) 1
(2) 2
(3) 3
(4) 4

P W N B

1[Option ID=13761]
2[Option ID=13762]
3[Option ID=13763]
4[Option ID=13764]
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Read the given paragraph and answer the five questions that follow:

If one dimension of the cockfight's structure, its lack of temporal directionality, makes it seem a typical
segment of the general social life. however. the other, its flat-out, head-to-head (or spur-to-spur)
agoressiveness, makes it seem a contradiction, a reversal, even a subversion of it. In the normal course of
things. the Balinese are shy to the point of obsessiveness of open conflict, oblique. cautious. subdued,
controlled. masters of indirection and dissimulation-what they call as."polished"."smooth" - they rarely face
what they can turn away from, rarely resist what they can evade. But here they portray themselves as wild and
murderous, with manic explosions of instinctual cruelty. A powerful rendering of life as the Balinese most
deeply do not want it (to adapt a phrase Frye has used of Gloucester's blinding) 1s set in the context of a
sample of it as they do in fact have. And. because the context suggests that the rendering, if less than a straight
torward description, is nonetheless more than an idle fancy; it is here that the disquietfulness-the
disquietfulness of the fight, not (or, anyway, not necessarily) is patrons, who seem in fact rather thoroughly to
enjoy it emerges. The slaughter in the cock ring is not a depiction of how things literally are among men, but,
what is almost worse, of how, from a particular angle, they imaginatively are. The angle. of course, 1s
stratificatory. What, as we have already seen. the cockfight talks most forcibly about is status relationships.
and what it says about them is that they are matters of life and death. That prestige is a profoundly serious
business is apparent everywhere one looks in Bali-in the village. the family, the economy, the state. A peculiar
tusion of Polynesian title ranks and Hindu castes, the hierarchy of pride is the moral backbone of the society.
But only in the cockfight are the sentiments upon which that hierarchy rests revealed in their natural colours.
Enveloped elsewhere in a haze of etiquette, a thick cloud of euphemism and ceremony gesture and allusion,
they are here expressed in only the thinnest disguise of an animal mask. a mask which in fact demonstrates
them far more effectively than it conceals them. Jealousy is as much a part of Bali as poise, envy as grace,
brutality as charm; but without the cockfight the Balinese would have a much less certain understanding of
them, which is. presumably. why they value it so highly.

Ve Tl Bl 9feU 9 39 a1 I U W4l & SR alforg:

i graToll SR D1 TS 1Y, SHS| Alide (SRSl BT $14Td, 38 FH- 1o sila- &1 UH
wfafRfees 1T SR weltd @var 8, auTfia, SRR 5@t W, R 9 R cam (siuar e I @e) 3t
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A € IR D1 3 URER B b &1 TSI oRal € WieRlY $d &1 IR Uei d W Pl Sirell iR
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wel AP T; Tei 98 S9-T SUT §. TSTS B a9, (YT, AP 9 I e 3P e P el
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The cockfight among Balinese can be best described as:

1. Sport
2. Status competition
3. Entertainment
4. Gambling
(1) 1
(2) 2
(3) 3
(4) 4

aTcl! ANl & &g qeiaroll &1 59 3 § gdlad aui:
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13765]
2[Option ID=13766]

3[Option ID=13767]
4[Option ID=13768]
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Read the given paragraph and answer the five questions that follow:

If one dimension of the cockfight's structure, its lack of temporal directionality, makes it seem a typical
segment of the general social life. however. the other, its flat-out, head-to-head (or spur-to-spur)
agoressiveness, makes it seem a contradiction, a reversal, even a subversion of it. In the normal course of
things. the Balinese are shy to the point of obsessiveness of open conflict, oblique. cautious. subdued,
controlled. masters of indirection and dissimulation-what they call as."polished"."smooth" - they rarely face
what they can turn away from, rarely resist what they can evade. But here they portray themselves as wild and
murderous, with manic explosions of instinctual cruelty. A powerful rendering of life as the Balinese most
deeply do not want it (to adapt a phrase Frye has used of Gloucester's blinding) 1s set in the context of a
sample of it as they do in fact have. And. because the context suggests that the rendering, if less than a straight
torward description, is nonetheless more than an idle fancy; it is here that the disquietfulness-the
disquietfulness of the fight, not (or, anyway, not necessarily) is patrons, who seem in fact rather thoroughly to
enjoy it emerges. The slaughter in the cock ring is not a depiction of how things literally are among men, but,
what is almost worse, of how, from a particular angle, they imaginatively are. The angle. of course, 1s
stratificatory. What, as we have already seen. the cockfight talks most forcibly about is status relationships.
and what it says about them is that they are matters of life and death. That prestige is a profoundly serious
business is apparent everywhere one looks in Bali-in the village. the family, the economy, the state. A peculiar
tusion of Polynesian title ranks and Hindu castes, the hierarchy of pride is the moral backbone of the society.
But only in the cockfight are the sentiments upon which that hierarchy rests revealed in their natural colours.
Enveloped elsewhere in a haze of etiquette, a thick cloud of euphemism and ceremony gesture and allusion,
they are here expressed in only the thinnest disguise of an animal mask. a mask which in fact demonstrates
them far more effectively than it conceals them. Jealousy is as much a part of Bali as poise, envy as grace,
brutality as charm; but without the cockfight the Balinese would have a much less certain understanding of
them, which is. presumably. why they value it so highly.

Ve Tl Bl 9feT 9 399 a1e I U Wyl & IR aIfor:

i graToll SR D1 TS 1AW, SHS| Alfde [SRIaHdl BT $1YTd, 38 FH- e sila- &1 UH
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STATaTRIT ST oIS 4 B To] B © (B1g, GRI TSR P 3T T8 o+ & Gae H Jgaq
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U §1 4% U8 SIU1 WRd 8| ST 87 U8d 4l 6, Srafy® gRaaR=T § fRufa Tesi @t aa
FAT § SR U8 ol 3% aR & Fgdl 8§ 8 § & 3 offa SRk gy & fawa 81 arelt 7 oma et +ft 2w, wia
H, gfvar 3, siferaen o, o0 . oy e & 9 daf srais 1R fawg g1 o ual gefaal
R fe=g il @1 [y =1, 7d P1 UaehH T61 & FHIS B -ldP Has & | IRy U8 Tiiareil # 81
& [  YTaHU 319 Wi 3N 1 faETg &l & fo9 IR U 9aTehd a8 30 ool RIFER & 44,
T SR TARTG, U 3R Hood! & 94 argal 9 Sr=sliea. mﬁwwg@éﬁﬂﬁ?{@@m
T, U U gter ol arad H i T & Sl o offtie wiid w U H S iftorad sxar g | S
i GTell 1 1 §1 W & 11 1 e, Wei=al & &0 H 591 Wiegdl & 9 § Faidl; Req Jriarsi
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According to the text, in every day life. Balinese are not characterized as:

. Cautious
Shy

. Aggressive
. Indecisive
(1) 1

(2) 2

(3) 3

(4) 4
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1 1
(2) 2
(3) 3
(4) 4
1[Option ID=13769]
2[Option ID=13770]

3[Option ID=13771]
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Read the given paragraph and answer the five questions that follow:

If one dimension of the cockfight's structure, its lack of temporal directionality, makes it seem a typical
segment of the general social life. however. the other, its flat-out, head-to-head (or spur-to-spur)
agoressiveness, makes it seem a contradiction, a reversal, even a subversion of it. In the normal course of
things. the Balinese are shy to the point of obsessiveness of open conflict, oblique. cautious. subdued,
controlled. masters of indirection and dissimulation-what they call as."polished"."smooth" - they rarely face
what they can turn away from, rarely resist what they can evade. But here they portray themselves as wild and
murderous, with manic explosions of instinctual cruelty. A powerful rendering of life as the Balinese most
deeply do not want it (to adapt a phrase Frye has used of Gloucester's blinding) 1s set in the context of a
sample of it as they do in fact have. And. because the context suggests that the rendering, if less than a straight
torward description, is nonetheless more than an idle fancy; it is here that the disquietfulness-the
disquietfulness of the fight, not (or, anyway, not necessarily) is patrons, who seem in fact rather thoroughly to
enjoy it emerges. The slaughter in the cock ring is not a depiction of how things literally are among men, but,
what is almost worse, of how, from a particular angle, they imaginatively are. The angle. of course, 1s
stratificatory. What, as we have already seen. the cockfight talks most forcibly about is status relationships.
and what it says about them is that they are matters of life and death. That prestige is a profoundly serious
business is apparent everywhere one looks in Bali-in the village. the family, the economy, the state. A peculiar
tusion of Polynesian title ranks and Hindu castes, the hierarchy of pride is the moral backbone of the society.
But only in the cockfight are the sentiments upon which that hierarchy rests revealed in their natural colours.
Enveloped elsewhere in a haze of etiquette, a thick cloud of euphemism and ceremony gesture and allusion,
they are here expressed in only the thinnest disguise of an animal mask. a mask which in fact demonstrates
them far more effectively than it conceals them. Jealousy is as much a part of Bali as poise, envy as grace,
brutality as charm; but without the cockfight the Balinese would have a much less certain understanding of
them, which is. presumably. why they value it so highly.

Ve Tl Bl 9feU 9 39 a1 I U W4l & SR alforg:

i graToll SR D1 TS 1Y, SHS| Alide (SRSl BT $14Td, 38 FH- 1o sila- &1 UH
wfafRfees 1T SR weltd @var 8, auTfia, SRR 5@t W, R 9 R cam (siuar e I @e) 3t
BTG, 53 U dfdiy, Ue [quaiy, Ugi a@ & 9T JH19- o1 Uatd ®-idl ¢ | 9o feufot
o, arell aRi Gd g8 @1 B B U1 a% Sl 5id o | SRy, ey, Jid, Fafa, dRiear a fsug
¥ AReR, A1 84 91 Fed 8, "IN, "aea-gus - o 3 ge. 1ig Iod! 8 391 d fard & wmn
A € IR D1 3 URER B b &1 TSI oRal € WieRlY $d &1 IR Uei d W Pl Sirell iR
69 & U T, o $xdl & [ai4rd faemiel & Iy [fEd &3d ¢ UH Siia- &1 Us Serad ==, Sfe
STATaTRIT ST oIS 4 B To] B © (B1g, GRI TSR P 3T T8 o+ & Gae H Jgaq
QIR DT FYIR B gQ), U1 Ha & Iaexul & U I a1 ol § o [ aRad & 3991 6 | 3R
Fife gg e Ihd Il ¢ [ gg v, o sg Glur g avi g i g, A i me Rl dean g
wel AP T; Tei 98 S9-T SUT §. TSTS B a9, (YT, AP 9 I e 3P e P el
3o AR T o UHI Weild 811 & 1 d SHP] SAltd g oid 4, 34l ¢ | g1l rars I 48 dead 3 Il
& o9 ot Rl & wisss a6 8, ioeg, S 59 W 0 B, & oo ooin foRiy @ oreaie Su a3
U B 999 98 Siv Wk 8| Sifas 894 Ied o . afIe Ieaaey ¥ Ry Gaef ot ard
FAT § SR U8 ol 3% aR & Fgdl 8§ 8 § & 3 offa SRk gy & fawa 81 arelt 7 oma et +ft 2w, wia
H, ufar H, arferamn ), I B, 3o uri fas g a8t sratee 1k fawg g1 oife R uel uefaat
3R fe=g wifaral @1 fafry ¥e=, 71d ®1 UahH dgi & FHIS B Afde HFds & | RReg U8 iiami # 8l
& o 3 11T oA Wipfaed T & 4 St & o R O vergen Snenfed 81 30 ogl, RIPER & 4y,
T SR TARTG, U 3R Hood! & 94 argal 9 Sr=sliea. mﬁwwg@éﬁﬂﬁ?{@@m
T, U% UHr ga@iel ol arad § ST (STl 8 99 @al 346 Y] 9 § 37 S Heudd &3l 5| 591
i GTell 1 1 §1 W & 11 1 e, Wei=al & &0 H 591 Wiegdl & 9 § Faidl; Req Jriarsi
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The approach used by the author in the text to understand the event can be best described as:

. Interpretive

. Structuralism

. Functionalism

. Transactionalism
(1) 1

(2) 2

(3) 3

(4) 4

Wgﬂ@m GR1 9T B G & [0 Ygad S9iE &l = 1 9 169 =0 8 Jaiad afvid fearan
IPhdl 87

k2 =

R ]

1. SO
2. 9dIdlg
3. UHTIag
4, HogagRAlg
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13773]
2[Option ID=13774]

3[Option ID=13775]
4[Option ID=13776]

Sl. No.95
QBID:17095




Read the given paragraph and answer the five questions that follow:

If one dimension of the cockfight's structure, its lack of temporal directionality, makes it seem a typical
segment of the general social life. however. the other, its flat-out, head-to-head (or spur-to-spur)
agoressiveness, makes it seem a contradiction, a reversal, even a subversion of it. In the normal course of
things. the Balinese are shy to the point of obsessiveness of open conflict, oblique. cautious. subdued,
controlled. masters of indirection and dissimulation-what they call as."polished"."smooth" - they rarely face
what they can turn away from, rarely resist what they can evade. But here they portray themselves as wild and
murderous, with manic explosions of instinctual cruelty. A powerful rendering of life as the Balinese most
deeply do not want it (to adapt a phrase Frye has used of Gloucester's blinding) 1s set in the context of a
sample of it as they do in fact have. And. because the context suggests that the rendering, if less than a straight
torward description, is nonetheless more than an idle fancy; it is here that the disquietfulness-the
disquietfulness of the fight, not (or, anyway, not necessarily) is patrons, who seem in fact rather thoroughly to
enjoy it emerges. The slaughter in the cock ring is not a depiction of how things literally are among men, but,
what is almost worse, of how, from a particular angle, they imaginatively are. The angle. of course, 1s
stratificatory. What, as we have already seen. the cockfight talks most forcibly about is status relationships.
and what it says about them is that they are matters of life and death. That prestige is a profoundly serious
business is apparent everywhere one looks in Bali-in the village. the family, the economy, the state. A peculiar
tusion of Polynesian title ranks and Hindu castes, the hierarchy of pride is the moral backbone of the society.
But only in the cockfight are the sentiments upon which that hierarchy rests revealed in their natural colours.
Enveloped elsewhere in a haze of etiquette, a thick cloud of euphemism and ceremony gesture and allusion,
they are here expressed in only the thinnest disguise of an animal mask. a mask which in fact demonstrates
them far more effectively than it conceals them. Jealousy is as much a part of Bali as poise, envy as grace,
brutality as charm; but without the cockfight the Balinese would have a much less certain understanding of
them, which is. presumably. why they value it so highly.

Ve Tl Bl 9feT 9 399 a1e I U Wyl & IR aIfor:

i graToll SR D1 TS 1AW, SHS| Alfde [SRIaHdl BT $1YTd, 38 FH- e sila- &1 UH
TR 1T SR eltd @var B, auTfia, SRR 5@t W, R 9 RR cavm (eyar de 3 @) Bt
BTG, 53 U dfdiy, Ue [quaiy, Ugi a@ & 9T JH19- o1 Uatd ®-idl ¢ | 9o feufot
o, arell aRi Gd g8 @1 B B U1 a% Sl 5id o | SRy, ey, Jid, Fafa, dRiear a fsug
& HRex, TN 88 941 Bed 8, "R, "FRea-gus" - [ 3 18, Hie Ybdl 8 SUPI 4 favd € 9
A € IR D1 3 URER B b &1 TSI oRal € WieRlY $d &1 IR Uei d W Pl Sirell iR
6 & U T, Tga $xdl & [a1&rd fawmiel & Iy [RfEd &3d g1 U8 Siia- &1 Us SRrad =, Sfe
STATaTRIT ST oIS 4 B To] B © (B1g, GRI TSR P 3T T8 o+ & Gae H Jgaq
IIIRI 1 =UiaR DRd gU), T8 HeY & Igex0 & =4 § foar Siral § ol [ araa 8 SAdi © | iR
i ug Yeu Uohd $xdl ¢ 1% g Fpo, ot g dierg=r aviA At off &, A i se s e A
wel AP T; Tei 98 S9-T SUT §. TSTS B a9, (YT, AP 9 I e 3P e P el

3o AR ol UHI Weild 811 & 19 d SHP] SiSd & oid 4, 34l ¢ | g1l rars § 48 et 3 Il
& o9 ot Rl & wisss a6 8, ioeg, S 59 W 0 B, & oo ooin foRiy @ oreaie Su a3
U §1 4% U8 SIU1 WRd 8| ST 87 U8d 4l 6, Srafy® gRaaR=T § fRufa Tesi @t aa
FAT § SR U8 ol 3% aR & Fgdl 8§ 8 § & 3 offa SRk gy & fawa 81 arelt 7 oma et +ft 2w, wia
H, gfvar 3, siferaen o, o0 . oy e & 9 daf srais 1R fawg g1 o ual gefaal
R fe=g il @1 [y =1, 7d P1 UaehH T61 & FHIS B -ldP Has & | IRy U8 Tiiareil # 81
& [  YTaHU 319 Wi 3N 1 faETg &l & fo9 IR U 9aTehd a8 30 ool RIFER & 44,
T SR TARTG, U 3R Hood! & 94 argal 9 Sr=sliea. mﬁwwg@éﬁﬂﬁ?{@@m
T, U U gter ol arad H i T & Sl o offtie wiid w U H S iftorad sxar g | S
i GTell 1 1 §1 W & 11 1 e, Wei=al & &0 H 591 Wiegdl & 9 § Faidl; Req Jriarsi
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What 1s the meaning of the term 'stratifactory angle' in the passage?

1. It refers to the cockfight
2. It refers to the Balinese personality
3. It 1s a feature of their religion
4. It 1s a feature of their social organization
(1) 1
(2) 2
(3) 3
(4) 4

TN B e Thag] HIUr UE &I A 8 J i 91 3 82

1. ST Yo Tiamelt 31 SR S
2. Y@ Sdod STl Ayl & afdad & 3R 81

3. U8 9% UH &1 Ud AL |
4. U8 3% GNP TIT6- &1 U9 A& o

(1)
(2)
(3)
(4)

A W N =

1[Option ID=13777]
2[Option ID=13778]
3[Option ID=13779]
4[Option ID=13780]

Sl. No.96
QBID:17096
Some areas of Harappa and Mohenjodaro served as bazaars, complete with shops. Archacologists have

inventoried the finds from artisans' quarters where bead makers, coppersmiths, cotton weavers, and other
specialists manufactured and sold their wares. The potters' workshops were filled with painted pots decorated
with animal figures and plain. ordinary wheel-made vessel manufactured not only in the cities but also in
villages for hundreds of miles around. There were water jars and cooking bowls, storage pots and drinking
vessels, Metal workers cast simple axes in open molds and manufactured chisels, knives, razors, spears and
tishhooks. Only a few expert artisans made more elaborate objects like 'dancing girl' evidenced at
Mohenjodaro. They would make a wax model of the cart and encast it in clay, which was fired to melt the
wax. The molten copper or bronze was poured into the mould. This "lost-wax' method is still used by Indian
artists. The technologies used in Harappan cities had been developed centuries earlier in small villages and
transferred to the cities without change.

feTfaad e 1 ufed SR 39 Hafdd udl & IR aifog:
oUWl 3R HigulGs! & $o &9 gHl 4 R-R aWR & &9 4 9 71 § | RIddidal 4 SRIRI &
FaT R & U 9T @S-G 91 § oie] Badl-Hatdre, TeRI, Sarel ud 3 faxee A
39 A1l &1 FHior aut faest 1 | Rl & erinars I u=-FEl § sed [Ed avad R Us ¥ &R
e, HIYRY A-HiHd 4is 7 dad a3l § sifug dps! id & ga-M18 & il & ofl RFa sid 91 g =
@ & SR AR G B Bl BRI, HSRUI & &= AR gl G- & o U gu Al

ol Wi T GYRY Segliad! &l glad ¥ R -1, 91, T (IWR), TRo! 3R go uehs
@ Bic] B FH0 Hd ¥ Had Pod [ALNT PRIR ol 'SR ITel oRil 3ff¥e JuRspd axqi &=rd 41 d
TPS (PIe) BT HE-UAET &1 ¥, 3R 8 TR GRie] B AR 9erd ¥, B B fga & g ford S
T IPd U | i3 T U g dial O S & oA @1 o Al | 98 Tie-aaT TG e H YR
HRITRI GRT VG $1 @il ¢ | TSWIPI W6l § Ugad ao-iiad diadl gd sie-oie Tial § fowfid gs
o} 3R fa=1 fopil ulfvac & weRl o oz |




Which one of the following is not fabricated by the 'lost-wax' mold method?

1. Axes
2. Fishhooks
3. Bulls
4. Carts
(1) 1
(2) 2
(3) 3
(4) 4

F=REd H 9 1F 91 aRe do 19T 9aid g1 161 371 7161 82

1. Pegitsal
2. A5l 9Fo- B Bic
39S
4. DI
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13781]
2[Option ID=13782]

3[Option ID=13783]
4[Option ID=13784]

Sl. No.97
QBID:17097

Some areas of Harappa and Mohenjodaro served as bazaars, complete with shops. Archaeologists have
inventoried the finds from artisans' quarters where bead makers, coppersmiths, cotton weavers, and other
specialists manufactured and sold their wares. The potters' workshops were filled with painted pots decorated
with animal figures and plain. ordinary wheel-made vessel manufactured not only in the cities but alzo in
villages for hundreds of miles around. There were water jars and cooking bowls, storage pots and drinking
vessels. Metal workers cast simple axes in open molds and manufactured chisels, knives, razors, spears and
tishhooks. Only a few expert artisans made more elaborate objects like 'dancing girl' evidenced at
Mohenjodaro. They would make a wax model of the cart and encast it in clay, which was fired to melt the
wax. The molten copper or bronze was poured into the mould. This "lost-wax' method is still used by Indian
artists. The technologies used in Harappan cities had been developed centuries earlier in small villages and
transferred to the cities without change.

fe=TieRad Terer ol ufed SR 39 Hafdd Uyl & I e

gl 3R HEulGs! & o &9 ghHI 4 MR-TR a6k & =4 § U 7 § | RId@ldal 4 BRITRI &

e Tl O U S &1 SHHE-GE §915 © ool g9l-Fatdrsl, aeR], gare! ud 3 faxivgi A
O T 1 (HT0r gt faes] B | HreRl o sriRrans O ug-FAl ¥ sried M sva R U ¥ 3R
I, QYR I1-[HHd His 9 dad el § sUg s e & sa-F1e & midr d ol REd g 91 aef =
@ & SR 3R G UbH Bl BRI, HSRUI & & SR gl G- & o U gu A1

YIgPHBR Jol Fi=l H QYR Seallsdl Bl gred 4 R S, =1, T (IR, RS iR Toe o s
@ @il &I (A Hd 4| Had o [dLNT HRIR of 'SIRET T oIl e guispa aequ a4rd 41 d
TP (BIe) BT HE-UIaET §41d ¥, 3R 0 IR Jieh] 1 TR0 Ferd U, B & fua™ & g o S
9% ¥ | Ii9 H fuan gan dfa a1 o @51 gars @ ol ot | 98 dhe-d9 9 fd o off yRdg
BRIRI GRI WG Bl Wl & | §SWIbI- Wexl H Wgad do-iiadl aicdl gd Sle-sic 7ial § [dhiid g
o} 3R fa=1 Tt ufkac & weRl § sz |




Which of the following artisanal group was not part of Harappa and Mohenjodaro sites?

. Bead Makers
. Blacksmiths

. Coppersmiths
. Potters

(1) 1

(2) 2

(3) 3

(4) 4

Frfad & 9 3 F 9 SRIR-TE 5SW1 3R Ag-uilas! T ST 4T o] Ul

1. H1a1 fmtdr
2, @igR
3. AHBR
4 TBR

(1) 1

(2) 2

3) 3

(4) 4

=

e T

1[Option ID=13785]
2[Option ID=13786]
3[Option ID=13787]
4[Option ID=13788]

Sl. No.98
QBID:17098 _ _ .
Some areas of Harappa and Mohenjodaro served as bazaars, complete with shops. Archaeologists have

inventoried the finds from artisans' quarters where bead makers, coppersmiths, cotton weavers, and other
specialists manufactured and sold their wares. The potters' workshops were filled with painted pots decorated
with animal figures and plain, ordinary wheel-made vessel manufactured not only in the cities but also in
villages for hundreds of miles around. There were water jars and cooking bowls, storage pots and drinking
vessels. Metal workers cast simple axes in open molds and manufactured chisels, knives, razors, spears and
tishhooks. Only a few expert artisans made more elaborate objects like 'dancing girl’ evidenced at
Mohenjodaro. They would make a wax model of the cart and encast it in clay, which was fired to melt the
wax. The molten copper or bronze was poured into the mould. This "lost-wax' method is still used by Indian
artists. The technologies used in Harappan cities had been developed centuries earlier in small villages and
transferred to the cities without change.

fAfoRad e &f ufed 3k 399 Jafia vl & SR Sifr:

oWl SR HigTuilGs! & P8 &7 DMl 4 WR-R §6R & ¥4 0 U 71 § | RIdaidal 1 SRR &
(AT el § W Gl &1 GHHE-IE §91% © olel BAEI-Hldrs], S RI, Sdrel ud 3= faesil 4
Y= g1l &1 FH10r aut faehl a1 | $eRI & erienarst § ug-FEl § sded FEd avaT R us 4 &R
T, TR I His 7 Fad Wexi § g Ios! 1fid & 55-F18 & wiar F i Fifa g 91 agi R
Old & SR 31R @HT eI B HeRT, HSRUI & §aq 3R G-l UlH & &l Ui gu 4|

YIqPHBR Gol Wil H WYURY Heglisdl i grad U 3R -1, 91, T (SR, ! R Tadl ubs
& Bicl Bl FH0 Hd U1 Had P [ALUNT PRIR ol ST 7Tel SRl 3T JuRspd axqd §=1d 41 d
BHS (HI0) DI HH-HICRY §1d ¥, 3R 59 R Yiieh] &1 a0 9ald U, HiH S fUuar & (o78 o SfFT
¥ I%d ¥ | I H fuan gon dfar o1 & &1 gars & ol ot | 98 ahe-da T gafa o off yrdhg
HRITRI §RT UG 1 @il ¢ | gSWIPTa Wg<l § Ugad ao-iiad diedl gd sie-oie Tial § fodfad gs
oft 3717 fa=1 fopdt afead— & e | g |




The Harappan pots were produced at :

1. Workshops n villages only
2. Workshops in both villages and cities
3. Workshops in cities only
4. Workshops located outside Harappa
(1) 1
(2) 2
(3) 3
(4) 4

gSWIBIE - ad- el g1 olld U2

1. &9d Tiial B} Hrirensi &
2. 7ial 3R UERI g1 B raLrensi 8§
3. Sad el & Pt J
4. SRa-1 3T 9 3ariad f6d oid o
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13789]
2[Option ID=13790]
3[Option ID=13791]
4[Option ID=13792]

Sl. No.99
QBID:17099

Some areas of Harappa and Mohenjodaro served as bazaars, complete with shops. Archaeologists have
inventoried the finds from artisans' quarters where bead makers, coppersmiths, cotton weavers, and other
specialists manufactured and sold their wares. The potters' workshops were filled with painted pots decorated
with animal figures and plain. ordinary wheel-made vessel manufactured not only in the cities but alzo in
villages for hundreds of miles around. There were water jars and cooking bowls, storage pots and drinking
vessels. Metal workers cast simple axes in open molds and manufactured chisels, knives, razors, spears and
tishhooks. Only a few expert artisans made more elaborate objects like 'dancing girl' evidenced at
Mohenjodaro. They would make a wax model of the cart and encast it in clay, which was fired to melt the
wax. The molten copper or bronze was poured into the mould. This "lost-wax' method is still used by Indian
artists. The technologies used in Harappan cities had been developed centuries earlier in small villages and
transferred to the cities without change.

fe=TieRad Terer ol ufed SR 39 Hafdd Uyl & I e

gl 3R HEulGs! & o &9 ghHI 4 MR-TR a6k & =4 § U 7 § | RId@ldal 4 BRITRI &

e Tl O U S &1 SHHE-GE §915 © ool g9l-Fatdrsl, aeR], gare! ud 3 faxivgi A
O T 1 (HT0r gt faes] B | HreRl o sriRrans O ug-FAl ¥ sried M sva R U ¥ 3R
I, QYR I1-[HHd His 9 dad el § sUg s e & sa-F1e & midr d ol REd g 91 aef =
@ & SR 3R G UbH Bl BRI, HSRUI & & SR gl G- & o U gu A1

YIgPHBR Jol Fi=l H QYR Seallsdl Bl gred 4 R S, =1, T (IR, RS iR Toe o s
@ @il &I (A Hd 4| Had o [dLNT HRIR of 'SIRET T oIl e guispa aequ a4rd 41 d
TP (BIe) BT HE-UIaET §41d ¥, 3R 0 IR Jieh] 1 TR0 Ferd U, B & fua™ & g o S
9% ¥ | Ii9 H fuan gan dfa a1 o @51 gars @ ol ot | 98 dhe-d9 9 fd o off yRdg
BRIRI GRI WG Bl Wl & | §SWIbI- Wexl H Wgad do-iiadl aicdl gd Sle-sic 7ial § [dhiid g
o} 3R fa=1 Tt ufkac & weRl § sz |




The Harappan products were :

1. Exported to neighbourhood cities
2. Sold in the local bazaars
3. Exported overseas
4. Sold in the weekly markets
(1) 1
(2) 2
(3) 3
(4) 4

SSWImIT 3Gl DI

1. T TRt | i fear Siar o
2. RFG FRIH &F1 91 o

3. fagw & Fafa o omar

4. e dIRi H o9 Sirdl o7

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=13793]
2[Option ID=13794]
3[Option ID=13795]
4[Option ID=13796]

Sl. No.100
QBID:17100

Some areas of Harappa and Mohenjodaro served as bazaars, complete with shops. Archaeologists have
inventoried the finds from artisans' quarters where bead makers, coppersmiths, cotton weavers, and other
specialists manufactured and sold their wares. The potters' workshops were filled with painted pots decorated
with animal figures and plain, ordinary wheel-made vessel manufactured not only in the cities but also in
villages for hundreds of miles around. There were water jars and cooking bowls, storage pots and drinking
vessels. Metal workers cast simple axes in open molds and manufactured chisels, knives, razors, spears and
tishhooks. Only a few expert artisans made more elaborate objects like 'dancing girl’ evidenced at
Mohenjodaro. They would make a wax model of the cart and encast it in clay, which was fired to melt the
wax. The molten copper or bronze was poured into the mould. This "lost-wax' method is still used by Indian
artists. The technologies used in Harappan cities had been developed centuries earlier in small villages and
transferred to the cities without change.

fAfoRad e &f ufed 3k 399 Jafia vl & SR Sifr:

oWl SR HigTuilGs! & P8 &7 DMl 4 WR-R §6R & ¥4 0 U 71 § | RIdaidal 1 SRR &
(AT el § W Gl &1 GHHE-IE §91% © olel BAEI-Hldrs], S RI, Sdrel ud 3= faesil 4
Y= g1l &1 FH10r aut faehl a1 | $eRI & erienarst § ug-FEl § sded FEd avaT R us 4 &R
T, TR I His 7 Fad Wexi § g Ios! 1fid & 55-F18 & wiar F i Fifa g 91 agi R
Old & SR 31R @HT eI B HeRT, HSRUI & §aq 3R G-l UlH & &l Ui gu 4|

YIqPHBR Gol Wil H WYURY Heglisdl i grad U 3R -1, 91, T (SR, ! R Tadl ubs
& Bicl Bl FH0 Hd U1 Had P [ALUNT PRIR ol ST 7Tel SRl 3T JuRspd axqd §=1d 41 d
BHS (HI0) DI HH-HICRY §1d ¥, 3R 59 R Yiieh] &1 a0 9ald U, HiH S fUuar & (o78 o SfFT
¥ I%d ¥ | I H fuan gon dfar o1 & &1 gars & ol ot | 98 ahe-da T gafa o off yrdhg
HRITRI §RT UG 1 @il ¢ | gSWIPTa Wg<l § Ugad ao-iiad diedl gd sie-oie Tial § fodfad gs
oft 3717 fa=1 fopdt afead— & e | g |




The artistic crafts of Harappa were :

Developed n the citadles of Harappa and Mohenjodaro
Developed in the lower cities

Developed centuries earlier in villages and transferred to cities
An independent development at particular point of time.

e Gk

(1) 1
(2) 2
(3) 3
(4) 4

g5 & HalD el &

1. ST 3R Algulgs! & R-g71 H [dehid
2. =1 el | faopfad
3. afeal gd miiar & foefd wd gl & 9o
4. fofdy gno.oa & wWdaey § faahid

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13797]
2[Option ID=13798]
3[Option ID=13799]
4[Option ID=13800]

Sl. No.101
QBID:7201001
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions:
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population M : -
A 12,000 46% (-) 22%
B 16,000 (-] 33% 27%
L 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 [-) 30% 25%

Note : In table {-) denotes missmg value (%), which is to be computed whenever required.

frafefad aifee! A-E dia iidl @1 siard] 3iR 378 Y98 (M), 3fed (F) $iR Tioiex & Hid=id [ad=u &
Uil 1 59 diferepT § ST 70 3ids] & SMYR TR WY &1 308 alfolg:

3TETe] &I FTHGR [aaru

o e~ ECRUPIGEGICD)

g gﬁf % F T
A 12.000 46% =) 22%
B 16.000 (-) 33% 27%
C 18.000 32%% 36% (-
D 24000 36% i-) 20%
E 25.000 ) 30% 23%

ie: qiferest I ekt A9 1 (-) §IRT SRIG1 41 § [59eh] URSGe SavgediaR [l o1 g |




Transgender population in Village - A 15 % of the female population in Village - B.

L.75
2.50
3.33.33
4, 66.66
(1) 1

(2) 2

(3) 3

(4) 4

Tt A H Tigoiex @t ard! g B ® Bigarsi @1 srard! &1 %8l

1.75
2.50
3.33.33
4. 66.66
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]

Sl. No.102
QBID:7201002
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




Find the difference between male population in Village - E and female population in Village - D.

1. 890
2. 830
3. 690
4,610
(1) 1
(2) 2
(3) 3
(4) 4

7iid E § QNI &1 SHaTEl 3R 7iid D H Afgansll &1 Aare & did o1 3R el 82

1. 890
2. 830
3. 690
4.610
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]

Sl. No.103
QBID:7201003
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




Find the ratio of population of transgenders in Village - C to population of males in Village - B.

1.9:10
2. 78
3.34
4.27:32
(1) 1

(2) 2

(3) 3

(4) 4

7ifq ¢ H Tiveisx 3R i B H YN S H1EIE] BT 3UTd 1d Diferd |

0

| SO VI N '
B 0o o=

ol

2T 232

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

Sl. No.104
QBID:7201004
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. , Distribution (%)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




What 1s the difference between number of males and females in Village - A ?

1. 480
2.1920
3.1120
4, 1680
(1) 1
(2) 2
(3) 3
(4) 4

Titg A T Ol iR Afgared @1 Wem & § &1 oK fha g?

1. 480
2.1920
3. 1120
4. 1680
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.105
QBID:7201005
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. , Distribution (%)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o faoRr ufcard o)

d gﬁ[ M F T
A 12,000 46% i(-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




Total number of females in Villages B and D together 13 % more than the number of males in Village
- C.

B A B
= D b2
~1 k2 b2 =]
e Ly L L

(1) 1
(2) 2
3) 3
(4) 4

7fd B SR D &HI 8 U W1y Bigarsi & oo W= 7id ¢ ¥ goui &l 9= 4§ =1 uiad sifde g2

etk
)
oy

L2
—
—-1
A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16417]
2[Option ID=16418]

3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006

In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

. Identification and Evaluation

. Implementation and Evaluation

. Identification and Examination

. Implementation and Examination

| R

e T2

(1) 1
(2) 2
(3) 3
(4) 4

&@%Qﬁ%%unsri FU3W & ADDIE (TSlol3as) Hisd & URaul Weg ADDIE & 3R 1 3R E e
e

1. Fegiaxo 3R gediae
2. BRGE 3R i
3. FeIRRuT SR wRiaf
4. PrE-aTT 3R el

1) 1

(2) 2

@) 3

4) 4

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.107
QBID:7201007




Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, etc.) that can be viewed by the students.
What option would instructor choose ?

1. Content creation tools
2. Networking tools
3. Learning Management System (LMS)
4. Links of the websites
(1) 1
(2) 2
3) 3
(4) 4

HITRITS Dl H YR & 3% (el &1 U Srdwd 9Tl g1 U6 & S5 SIe%Ieh Uo--ar! (-fava
I, TR wige wagfd 3nfe) 39 S0 9 Hav i & o [aandf 57 sracie 3 ¥ | 59 fou
3D DIH-H fabed BT F07 S

1. fqwgasg Fofur g
2. FeafthT I9@RT
3. HIETH Y&eH YUl (TeUHT)
4. 4eqIEcy & fdd
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning ?

. Law of effect

. Law of Readiness

. Law of Multiple response
. Law of exercise

(1)1

(2) 2

(3) 3

(4) 4

fFrafaiad & oi--a1 Fran st & arfie Faal o siavid el e g2

1. 94T &1 Hgg
2. dd=dl &1 a8
3. §8 Uk &1 g0
4. 3O &1 Hug
(1) 1
(2) 2
(3) 3
(4) 4

A R

1[Option ID=16429]
2[Option ID=16430]




3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements :
Statement I : Project method 1s best associated with the Philosophy of John Dewey.

Statement II : The strength of Project method lies in social participation.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but statement II 1s correct.
(1)1
(2) 2
(3) 3
(4) 4

R PRy E:

BUA 1 : TS fafY o Sdi & g% 9 aiiu® =9 9 ald 8|

B 11 - Ui (afer &t gaerar s wicHiia § Higd 81

SWRIF HYH & aie O, 1 iU T fde ol ©§ 8 a8 ugead 3R &1 99 HIfoU:

1. BYFI AR ISH T8l € |
2. PYTI R I GHITEd € |
3. YT 196l 8, AP HUA I TEd § |
4 PYTITETE, AT YT I Tl & |

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
QBID:7201010

For Undergraduate educational programmes. courses on SWAYAM Platform have been developed by :

A NPTEL

B. IIM Ahmedabad
C. AICTE

D. CEC

E. IIM Bangalore
F. UGC

Choose the most appropriate answer from the options given below :

1.A.C.Dand E Only
2.B.D. and F Only
3.A.D.E and F Only
4. C,E and F Only




(1) 1
(2) 2
(3) 3
(4) 4

qﬁgﬁﬁ?ﬁ%ﬁwaimm(swmm&ﬂ?ﬁ&ﬁ@m 3R gTemeH fGad grI fasfad fed
gl

A, TUIdIREd
B. IS HSUH, HEHAEG
C. TR

D. gl
E. 3S IS UH, §TER

F.fa.sf.am
- fAu T fow el § ¥ 9ad Iuged ST &1 997 Difoie:

1. AT A, C,DARE
2. %A B, D ARF
3. PAdA, D, E AR F
4. BAAC,EARFE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16437]
2[Option ID=16438]

3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

. for example
. namely

. against

. refer to

(1) 1

(2) 2

3) 3

(4) 4

e 3TeRg T Qe Wiade (RUTd) 9gd Iy U: Taer viz 1 8, s9@ o &

1. Iareuny
2. a3
3. ®aes
4. B d
(1) 1
(2) 2
(3) 3
(4) 4

B R R

1[Option ID=16441]
2[Option ID=16442]




3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012

A student submits Ph.D. thesis in a university. Upon scrutiny. it 1s found that his/her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC
regulations ?

.Level 0
.Level 1
.Level 2
.Level 3
(1)1
(2) 2
3) 3
(4) 4

Ua faeneff ue fayfeeran & o d.u= €. 9y vey o o1l 8 | 395 Y UeY BT Tdel & IR
3| fauTag & 35% HFT H FHEYAI Ul Ol ¢ | [ayidenad sFEar S & [ aml & oaR
frafeRad o 3 gg e It & fod TR T S1d1 82

1.XED
2.4 1
3.5 2
4, %X 3

(1) 1

(2) 2

(3) 3

4) 4

B L R

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

1. Abstract

2. Introduction
3. Results

4. Method

(1) 1
(2) 2
(3) 3
(4) 4

Y 3TeE BT g W s iy & fawy 8 &1 fagmadie 3R oy & ey & aR § 3r-9y® &1
RT3 &1 Soad a1 oIl B, 39 ®el 5l &




(3) 3
4) 4

1[Option ID=16449]
2[Option ID=16450]
3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research
3. Cross-sectional Research
4. Correlational Research
(1) 1
(2) 2
3) 3
(4) 4

U 3 o Uiyl & U 998 31 Us &I 3fafel § Haor 3R H319- a1 i1l 8, 39 ®el ofldl 6:

1. 3ced T
2. RIeE WY
3. IO Y
4, ¢ Sy Y

1) 1

) 2

3) 3

(4) 4

1[Option ID=16453]

2[Option ID=16454]

3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement I : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one attribute.

Statement II : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

4) 4




TR eEfume:

DU 1 : UMD URHST & eFia/HY §, 9 U U1 Ud U iU [RIvdIsi/a&0 &1 Jufkuid sid

IR & SMTYR TR 3w ST TIfed TR B

HYA 11 : IUE HYA-1 H Sfewiad stidvs! o1 ufed faavur fgudiy witesdr faavur & = 1 g1 9ol g |
SRIFd YA & ATAS ¥ = 50 v Gwedi § ¥ Ut 3R &1 999 Sifog:

1L PYTIRISAI TS |
2. P AR I SH] AR |
3. YT I 9, AP PYT I T ¢ |
4 FYI AR, AFTFUHE I T E |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16457]
2[Option ID=16458]

3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of

1. Commonality
2. Doubt
3. Indifference
4. Animus

(1) 1

(2) 2

(3) 3

4) 4

to most extent.

Tid ST YUY & SR 95d 88 dP @1 UG &1 wiafafiad Searg |

1. T
2. 448
3. el
4.fogw
(1) 1
@) 2
(3) 3
(4) 4
1[Option ID=16461]
2[Option ID=16462]

3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017




On the negative side, communicative language 1s used to :

A, Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

(4) 4

THRIES Y& D ard D ol SUSUTT ST 1 WaHT fohar &re &:

A. Al dile® drg-fdarg @l gg+ @ oy
B. I &1 0 &3 & faU

C. JHIS & gie & g

D. Yllfd-d-=1gdl &I IR &3 & g
E. 9fie ifa v & gaa & ford

- fu e fasedl 9 9l Ok I
1.Fad A, B, C

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.118
QBID:7201018

Given below are two statements :

Statement I : Communication, culture and power are inter-related.

Statement II : Socio-cultural values when communicated do not have any weightage of power.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement II 15 true.
(1) 1

e L b2




) 2
(3) 3
(4) 4

TR T REmE:

HYA 1 HUYUT, TpId SR fdd 3o Hafdd 8id 8

HUF 11 : TN & GLTd AHISID-TRG D Jeuli 8 QG &1 $15 doi el 36 ol g
SIRIdd Y & 3HTaiid H, 1< fau MT fdeedl § 3 96l S o1 994 ST

L. BYFIAR IS T E |
2. PYTI R 11 SHT ST © |
3. PUTITA . AP PYT I JTT ¢ |
4 PYFI I, AP FUHE I TIE |
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
QBID:7201019

Modern communication technology has converted words into

A. A tool of equality

B. Time

C. A tool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

A, B. C Only
'B. C. D Only
.C,D. E Only
'B.D.E Only
(1) 1
(2) 2
3) 3
(4) 4

il S




YT TR U - gl o HuRkafdd @ faar g:

AT S WA S E9H

B. 90

c. 3Ufga Eifd Sl gfdd & =u f
D.¥9HEUH

E. Yfed & &9 d

= f4u e fad el O O Jel IR &1 994 Difois:

1.BAAA, B, C
2. %ddB,C,D
3. %Add C, D, E
4. $ddB,D, F

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=16473]
2[Option ID=16474]

3[Option ID=16475]
4[Option ID=16476]

Sl. No.120
QBID:7201020

Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes this code as the voice of the person.
In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II 1is false.
. Statement I 1s false but Statement I 15 true.
(1) 1
(2) 2
(3) 3
(4) 4

TR A PRI E

HY 1 HUSUT H 372Richd T e U iR 01 ¥ Hafdd giar |

U 11 - e G159 e DI Afdd DI AT B I G B

IR HYH & ATelld 1, A1 S0 T fawedl T I Ul IR &1 904 DI

1L PYTIR IS TIE |
2. FYAT AR I SH] AR |
3. YT 9, AP PYT I JTT ¢ |
4. DY I, BT FYUT I I E |
1) 1
(2) 2

F L S




(3) 3
(4) 4

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
QBID:7201021

A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet 15 20% of , find the
number of pens he sold at profit.

40
30
20
35

il B

(1) 1
(2) 2
(3) 3
4) 4

U gDHMaER 10 $UU Ul HIH i &2 § 60 HAH & U Jdhe &l @RIadl 6| 98 Udie & Ud HFT Pl 40%
& T TR §9d1 8 | U9 U TR FH 20% 1 81 8idl & | Tl I8 ol Uebe WX el dlY 20% &Il 8, a9
SOH P a8 T J1d Pifort ol 9= Ay W

ad bg Taa e
L e T e O e

il

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16481]
2[Option ID=16482]

3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
QBID:7201022

A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

was his average before playing 171 match ?

el e
O L

LA

Lh Lk

oy L
b= e
Lh Lh

(1)1
(2) 2
(3) 3
(4) 4




U@ gead (e RaaTsh) 170 T4 H 08 I F-1A1 ¢ | S9% G0 WY 39@ Hiadg a3 5 2.5
¥ @1 g B ol g1 < 1781 79 Wa- & Ugd 9] S{d fda-T ur

Ln
Lh

Sl
(SRS T )
— G0 O Lh
Lh Lh Lh

Faie

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16485]
2[Option ID=16486]

3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
QBID:7201023

Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day, as compared to the initial water level ?

% of increase
1% decrease
. 1.5% increase
. 1.5% decrease
(1)1
(2) 2
(3) 3
(4) 4

AN P TG TP 41 & TR § Ud e 10% B JiG il & Ud GO o 10% P HHI gl ¢ | 3RS
SR @1 g1 H g3 fa & 3id | ofear H fobd- ufawrd & gfg 3rar ot g1 wineeih

b =

e T2

1[Option ID=16489]
2[Option ID=16490]
3[Option ID=16491]
4[Option ID=16492]

Sl. No.124
QBID:7201024

There are two numbers such that the sum of twice the first number and thrice the 289 number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36. The largest of the two numbers is ?




(3) 3
(4) 4

&1 BT 58 YR &l T @ R g TR o Gl SR g A1 & R &l 4 30 § AUl ugel Het
& AT iR Gl 1 & SN[ 1 417 36 5| Al SeaTsl O 9 g9 S $H-41 52

bl
LA

Faike
o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]

Sl. No.125
QBID:7201025

If SEARCH is coded as 214673 and CHART 1s coded as 73465, then what will be the code for TEACHER. 7

. 5147316
. 5174136
. 5143716
. 5413716
(1)1
(2) 2
3) 3
(4) 4

qf¢ SEARCH 1214673 & &0 § Ped 01 T § 3R CHART Bl 73465 & =0 T Heag [l 141 6|
dd TEACHER &I &4 tRe ¥ dedg far s

k2 =

R ]

. 5147316
. 5174136
. 5143716
. 5413716
(1) 1
) 2
(3) 3
4) 4

k=

ES 5

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]
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"Today on average we can look forward to a longer life span than the generation before us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identify the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

Appeal to unqualified authority

:h.!..uh.)l—l

1) 1




(2) 2
(3) 3
(4) 4

HIHTIG: TS §H 30 g Uie! B fUe Tall Sitd--afdl B U= &R Jobd § | I8 WY ¢ & U9l had
Ral FATUd SRl @ SRUIEHE 5311 8 | 581 81 o= Wy 1 gHidd fovar 8 | Sudax a8
frafafred faeed 9 db 19 S UgaH S|

1. Hfaarid grE=ie
2. T
3. flhoe-gad Haurdr
4. UG WIYHR 38
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]
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If the statement "All cricketers are rich persons’ is given as true which of the following statements can be
inferred to be false ?

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons.
D. Some rich persons are cricketers.

Choose the correct answer from the options given below :

1. B and C Only
2. A and C Only
3.B and D Only
4. A, B and C Only
(1) 1
(2) 2
3) 3
(4) 4

gﬁ:ﬁmmﬁfwatﬂaqﬁ%rﬂﬁ%ﬁ[ﬁq%ﬁaﬁﬁﬁﬁﬁ-maimw 3HI=d o o g
[

A. BT fhahex o= ofad el & |
B. T fhdhex o aafda g1
C. T fohdrex o= aafd Al o
D. T Yl oifad e g |

1= fqu ¢ fdeedt § O Hel SR o1 994 ST

1. Had B 3R C
2. Had A AR C
3. $ad B AR D
4. BATA, B3R C




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16505]
2[Option ID=16506]

3[Option ID=16507]
4[Option ID=16508]

Sl. No.128
QBID:7201028

Which of the following propositions are so related that they cannot both be true, although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some football players are not rich persons.

Choose the correct answer from the options given below :

.Aand B Only
. A and D Only
. Cand D Only
.B and C Only
(1) 1
(2) 2
3) 3
(4) 4

mﬁﬁ.@mwwﬁﬁm%%ﬁﬁﬁﬁmﬁuﬂrﬁa‘cﬁnﬂﬁﬁ
|

A Tt peara et o=t afdd €|

B. ®ls Beard [Gars! e oafdd 7ol o |

C. T Peard Raars! o= ofdd g

D. T© Geald aare! &=l aafad 7ei o |

=1 f4U 7T gl § I 9l IR &1 94 Difel:

1. Hdd A AR B
2. BT A ARD
3. %dd C 3R D
4. HIAB AR C

(1) 1

(2) 2

(3) 3

(4) 4

]

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]
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Which of the following propositions are logically equivalent ?

A. No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals.

Choose the correct answer from the options given below :

. C and D Only
Aand D Only

. A, B and C Only
.B and D Only
(1) 1

(2) 2

3) 3

(4) 4

fFafeRad o eH-d giosical dfds w1 3 auge €|

A. BI5 i T 3PP AR ol o
B. Pl il SThTHS SR T1l ol o
. T Pl TR-3MTHTHD § |

D. TS Tl SHHP oHaR 7ol 6|

=14 f4U 7T gl § O 9l IR &1 944 Difel:

1. %9d Cc AR D
2. BT A IRD
3. %dd A, B3R C
4. HIAB ARD

1) 1

) 2

3) 3

(4) 4

ik i

e a2

1[Option ID=16513]
2[Option ID=16514]
3[Option ID=16515]
4[Option ID=16516]
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Given below are two Statements :

Statement I :According to classical Indian school of Logic, namely Nyaya. we ascertain the relation of
unmiversal concomitance between x and y by perceiving that in all cases the presence of x 1s accompanied by
presence of v, and not perceiving any instances to the contrary.

Statement II : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both statement I and Statement II are false.
3. Statement is true but Statement I is false.

4. Statement I 1s false but Statement I is true.




(1) 1
(2) 2
(3) 3
(4) 4

T pyFfRum E:

FUF 1 : VRGN YR TR 19 T 6 HTIR 89 x 3R y & did FaHm Fgaidadl Hi%d 3 o
gl gty 7 x o1 IufRufa & Ty y Bt SufRufd gidl 8, 3R 58 faadid &1S =vid 7gi 81

FHYF 11 : TG YR Hifdmardt o od § & el af alge i & d ardyife dey wifia =gt
fopa o Taar © Tife miferd fawal & IR ¥ 9ed ¥eg & YT eidl 8|

QRIGT HY- & AT H A1 14U U [qaedi § I el 3R &I 944 I

1L BYFIAR IS A § |
2. FYAT AR I SHT TR |
3. PUTITA ., AP PYT I HTT ¢ |
4. FYFTI 3T, AT SUT I TT T |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]
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Which of the following applications A-C are built on top of open-source digital platforms ?

A Agadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

A.Band C

. A and B Only
. B and C Only
. A and C Only
(1) 1

(2) 2

3) 3

(4) 4

B




frAfRad wanT A-c T ¥ SH-51H 9 Gad |id 3o wepid W FHifd feu g

AL SRR

B. USIg =
C. Plldd

I fau ¢ fam el § 9§ T8l 3R &1 994 Bifor:

1.A.B3RC
2. Bad A dRB
3. PadAB AR C
4. BT AARC
1 1
) 2
(3) 3
(4) 4
1[Option ID=16521]
2[Option ID=16522]

3[Option ID=16523]
4[Option ID=16524]
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Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement II : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022.

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II is false
3. Statement I is true but Statement II 1s false
4, Statement I false but Statement II 1s true

(1)1

(2) 2

(3) 3

(4) 4

B IE AL AIC N CURI I
HY ; STRaUE ay 2022 B fay 1R & Galfte geaar smect sis o

HYTIL: a9 2022 T agel Harsii o & I fay § SRy SR 31N Hw: Y 3R dias Jaiied
TeaH 3fgel YR &S 4|

IWRIdd HY & ATdlD H, -id 34U 770 f[dsedi 8 I Tl 30 B 90+ DI

1. BYIIR IS TR |
2. P AR I SH] AR |
3. FYTI9d ¢, AP HYT I 3T T |
4 FYI AR, AFTFUHE I T E |
(1) 1
(2) 2

k2 =




(3) 3
4) 4

1[Option ID=16525]
2[Option ID=16526]
3[Option ID=16527]
4[Option ID=16528]
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Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A SaaS users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook, Hotmail or Yahoo! Mail is a form of SaaS.

C. Saa$S buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas. such as a data fields.

Choose the correct answer from the options given below :

. A and B Only
. Aand C Only
B and C Only
A BandC

B =

(1) 1
(2) 2
3) 3
(4) 4

FISS DG H FUCAR Uol U Fdd (F) & e H FafaRad oy-l § 4 SH-5H 8 $U- 981 52

A. I 1T §eRT U s ot off HgeR sryar AlaTed SUBRUN § 30+ S % Ugd 9ad §

B. 3cq®, TIcHd YAl OTg I il 49 ST SHe 9al 99 &1 U6 &0 |

C. T ol TR &1 =4 3R Siufd uRafdd &3 3R Ser &41 o fafkiy &7 &1 =giaid &=
& [eRl Ve SIaRTgE & U] SHaUH TR §-1 96d ¢ |

i f4u 78 fdd el § T Tel 3k &1 9094 Difols:

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]
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Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

1. Aand B Only
2. A and C Only
3.B and C Only
4, A.Band C

(1) 1
) 2
3) 3
(4) 4

1 TUwoT il A-c B ¥ 5 T XS ISR/ HIifi! A1 oiidl 87

A, Girerdt
B. {RUGHRS!
C. SETYULLA

=1 f4U 7T gl § I 9l IR &1 94 Difel:

1. Hdd A AR B
2. Bad A AR C
3. BAAB 3R C
4. A B3RC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16533]

2[Option ID=16534]

3[Option ID=16535]
4[Option ID=16536]
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In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food securnty mfrastructure
3. Health care and education infrastructure
4. Telecommunication and transportation infrastructure
(1) 1
(2) 2
(3) 3
(4) 4




%I'R_rfff Hdul-ep Hgaqul SaeRaAT (Ufsdd B g3prgdeR) Fafarad | fewe dey o vainT fear s

1. P GI&T ST
2. T Y& SHaHTET
3. WY QT g 4T SaER=HT
4. X IR 3R IRGE ST
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16537]
2[Option ID=16538]

3[Option ID=16539]
4[Option ID=16540]
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What is the correct sequence of steps in Risk assessment related to environmental hazards 7

A. Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :
C,B.A,D

1
2
3.
4

w0
oop
oww
=g g

(1) 1
(2) 2
(3) 3
4) 4

TaiaRuiTg Gl ¥ Gefid sifed geuid- & Hafafad deHf of ugt sHHH Ta18?

A, SifgH fagdioro

B. SaYIHT HedioA
C. Waxl &l gg=

D. SliRaH yge=
=4 feu 7t fas el § T 9l 3R &1 99 Difol:

EBAD

1
2
3.
4

e
2Rl
Oww
R~

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16541]
2[Option ID=16542]




3[Option ID=16543]
4[Option ID=16544]
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National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) was
launched in the year

. 2009
. 2010
. 2011
2012
(1) 1
2) 2
(3) 3
4) 4

oAy 9Rad- Tee AP B Ao (TR & = # 9 U A9y IR B o Fe d 3 g ad
Y feodT T U

B B O B

. 2009
. 2010
2011
2012

=

:l-".(..\-\:l

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16545]
2[Option ID=16546]

3[Option ID=16547]
4[Option ID=16548]
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Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

. Melting of Antarctic Ice-sheets

. Melting of Glaciers
3. Thermal expansion of oceanic waters
4. Melting of Greenland Ice sheets

1) 1

(2) 2

3) 3

(4) 4

gﬂﬁ@%%ﬂﬁﬁﬁa@g R & SR 364 1 ol ao FafafEa I 4 fget aeE siftean w61

1. TI&UT YAy 80 91ax & g
. fer wusi o1 [y
 HENFRI §d &1 T4 TR
4. Fcivs &1 feq 9re] o fuuen

(1) 1
(2) 2
3) 3
(4) 4

k2 =

L b

1[Option ID=16549]




2[Option ID=16550]
3[Option ID=16551]
4[Option ID=16552]
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QOut of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
5

A NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NO; (Nitrogen trioxide)
D. N,0O (Nitrous oxide)

Choose the correct answer from the options given below :

.Aand B Only
.B and C Only
. C and D Only
. A, B and D Only

(1) 1
() 2
3) 3
4) 4

Tgclor & fafir semrgs] O 9 e o ¥ 65 a1y Ugue 91 ofidl § IR NO, & EU H JHI |l g

A.NO (RIS HFHES)
B. NO, (ATSCIo STg aI5s)

C. NO, (AT5¢ISH T3 HIRIES)
D. N,0 (TI52H HHES)

= f4u e fas el & 9 Jel Ik &1 994 Difos:

1. 5dd A 3R B
2. FAAB AR C
3. %ad C AR D
4. Pad A, B AR D

(1) 1

(2) 2

3) 3

(4) 4

e faa B —

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]
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The advantages of biodiesel over conventional petro diesel are :

A, Biodiesel produces significantly lesser CO, and SO,.

B. It is non-renewable

C. It has higher octane number

D. It can be used in any ratio with petro-diesel
E. It has lower flash point.

Choose the most appropriate answer from the options given below :

. A, B and C Only
.B. Cand D Only
A, Cand D Only
.C.D and E Only

(1) 1
(2) 2
(3) 3
(4) 4

URURS UeISiod 31 U Sig-Siod & 9 5 T Far-a oy &2

A. S-STed BTH! & CO, 3R S0, ITd BIAT 5|

B. U8 TR Adiaxuiig g

C. U e WAl AR g |

D. 59 Ul Stora & 1y et o srara § vt fm s gwar g1
E. 5951 (449 Sao-id (g Wise)

-4 fau e famodl § € 99 Sugad SOk &1 99 B

1. BAAA, B AR C
2. ®JAB, C AR D
3. HAAA, C AR D
4. HAAC, D IARE

(1) 1

) 2

(3) 3

(4) 4

B

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A, SWAYAM
B. AYUSH
C. PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

.B and C Only

. A and D Only
.A, Cand D Only
. A, B and E Only
(1) 1

(2) 2

3) 3

(4) 4

T3 e =ifa & FafaRad $9-8 Ueife 59 & 9 o1 Ioorg fovar a1 § fore arm 3 el &
s uiRieu & Hiefed fdar sm?

A g

B. 1Y
C.Rd
D. gl&fl

E. U735l
i feu U fas el § 3 TEl SR &1 99 BifeI:

R e

1[Option ID=16561]
2[Option ID=16562]
3[Option ID=16563]
4[Option ID=16564]
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In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

. A, B and C Only
.C.D and E Only
.A,C.Dand E Only
A B.C.Dand E

(1)1
(2) 2
(3) 3
(4) 4

gy 1904 § YR fayfaeney srfafan & sftfaea & fow sRumd @e o forgeT Sewg Fafafad
o fayfamrrerdl & Smya-ga uRad=1 &1 YE3ITd BT U

A. Fasdl
B.dld

C. Hgr ™

D. UoTd (ARR H)
E. SUIGIEIG

=i fAu e fae el § ¥ gad Sugad SR &1 99 Difeld:

1. BATA, B AR C
2. HIAC, D IIRE
3. %40 A, C,DHRE
4. A.B.C.D3RE

(1 1

(2) 2

(3) 3

(4) 4

d o=

e a2

1[Option ID=16565]
2[Option ID=16566]
3[Option ID=16567]
4[Option ID=16568]
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Given below are two statements :
Statement I : UGC is a central government organization established by an Act of Parliament in 1956.

Statement II : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but statement II 1s correct.

(1) 1
) 2
3) 3
(4) 4

= < e U MY

HY 1 ; goird, 1956 H g B HYHae g1 wifud fea1 1 ue HEig WReR! |76 3
S 11 - goil! = gfad e & YA o & &8 § Ui &5 S o wiftd fFar g
SRIAI SYH & e H, e iU T fde el & 8 9oy SUge SR &1 99 B

1. BYFIARIIH T8I ¢ |
2. PYTI AR IS TTaa & |
3. YT I T6l 8, AT HUT 1 TTEd © |
4 PYFITETE, AT YT I Tl & |

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
(CEE). launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

1. Chennai
2. Ahmedabad
3. Delhi
4. Hyderabad
(1)1
2) 2
(3) 3
(4) 4




YRd PR & Talarv U4 o HATed - uaiaul e 3 as (S) B gemarg I g
fafay wiiérd Togl & Ao vgiaRv & aR 1 S dl H gis 8 a9 1986 H AP YF1aRUIG SRl
ST BT (ST 1 3 B

1. 9%
2. dgHaldlg
3. faeut
4. BEXIEIE
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=16573]
2[Option ID=16574]
3[Option ID=16575]
4[Option ID=16576]
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Which of the following 1s an important archaeological site declared by UNESCO as a world Heritage site in
19807

. Takshshila
. Mithila

. Vallabhi

. Nalanda
(1) 1

(2) 2

(3) 3

4) 4

[FafeRad o 9§ B U Hgw@yy] QRIdlas Sd © o] g-%] gR1aY 1080 1 fay eRIex =/ Uifid
fepar T

1. e
2. i
3. geaHl
4, Alci<l

(1) 1

(2) 2

3) 3

(4) 4

b =

S

1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

fafafad ey ot ufgu 3R Uy &1 3R 2|
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Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revolution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :

(4) 4

TR H e I & YR R 9 ge13i D1 981 SIapHI IR Haieyd i
A UYH G311 faufa
B. TqUTST0T BTl Pifd

C. T T Sf1fdshR
D. ®ic ¥ Jgad [ 99ar & we”

i U 7Y [ddedl § Uel 3R &l 99 $Iol:

1.A,B.C.D
2B C DA

o g
O
wllw

.B.A,C,
(1) 1
(2) 2
(3) 3

(4) 4

e a2

1[Option ID=16581]
2[Option ID=16582]
3[Option ID=16583]
4[Option ID=16584]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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The term LICs in the passage most likely represents

. Lower Indo-China
Later Indus and China
. Low Income Countries
. Laos India and China
(1)1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

The Emergence of wheeled cart
. Neolithic Revolution

. Metallurgy

. Invention of Writing
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1) 1
(2) 2
3) 3
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Arrange the following places where urban centres developed. in correct chronological order.

A Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below :
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1) 1
(2) 2
(3) 3
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Given below are two statements :
Statement I : Urban centres in China developed before they developed in the plains of Indus river.

Statement II : Trading centres developed much later than the first cities.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement IT 1s true

1) 1

(2) 2

(3) 3

(4) 4
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